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Introduction

In accordance with the National Policy of Education (1986), Government of India
started Jawahar Navodaya Vidyalayas (JNVs). Presently the JNVs are spread in 27
States and 08 Union Territories. These are co-educational residential schools fully
financed and administered by Government of India through an autonomous

organization, Navodaya Vidyalaya Samiti.
Objective of the Scheme

(i) To provide good quality modern education including a strong component of
culture, inculcation of values, awareness of the environment, adventure activities
and physical education to the talented children predominantly from rural areas.

(i) To ensure that students attain a reasonable level of competency in three
languages.

(i) To promote National integration through migration of students from Hindi to Non-
Hindi speaking State and vice-versa.

(iv) To serve in each district as focal point for improvement in quality of school

education in general through sharing of experiences and facilities.

Admissions in JNVs

Admissions in JNVs are made through the Jawahar Navodaya Vidyalaya Selection Test
(JNVST) to Class VI. Provision is made for online registration of applications as per NVS
criteria. Selection of students is done through Jawahar Navodaya Vidyalaya Selection

Test [JNVST] only, by following reservation policy and selection criteria of NVS.



Composition of the Test

The selection test will be of two-hour duration from 11:30 am to 01:30 pm and will have

3sections with only objective type questions. There are 80 questions in all for 100 marks.

Type of Test Number of Questions Marks Duration
Mental ability Test 40 50 60 Minutes
Arithmetic Test 20 25 30 Minutes
Language Test 20 25 30 Minutes
Total 80 100 2 Hours

A single test booklet comprising of all the three sections will be given to each
candidate. Additional time of 40 minutes wil be allowed for “Divyang
students” (differently-abled students)

The different parts in Mental Ability section are:

Odd Man Out

Figure Matching

Pattern Completion

Figure Series Completion
Analogy

Geometrical Figure Completion
Mirror Imaging

Punched Hole Pattern

Space Visualisation

Embedded Figure

YV V. .V V V V ¥V V VYV VY

The session Arithmetic has sample areas like Speed and fime, work done and fime,
simple interest, perimeter and area of square and rectangle, arithmetic simplification,

profit and loss, percentage etc.

The language component part addresses the learner’s ability to process to understand

which includes literal level, inferential level and the critical and evaluative level.

All areas are provided, in the form of MCQ, for the practice of the learners.



Objective of releasing sample questions

Familiarization of the test towards its stakeholders will therefore be an advantage for
those who aspire towards their selection to JNVs. NVS has taken initiative in developing
Resource material [Learner support material], which has been supported, by all
Regional offices and JNVs.NVS is providing a suitable platform for the aspirants of JNVST
to face the selection test with confidence. For other details, notification of NVS may

kindly be referred.
NVS acknowledges all stakeholders in the development of this Resource material

It is believed that this material will be of immense help to the learners towards their
familiarization, understanding of JNVST and towards their application. Being the maiden

aftempt, suggestions are most welcome to improve the quality further.

Released by
Navodaya Vidyalaya Samiti
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PART-1
MENTAL ABILITY TEST
(ODD MAN OUT)

Directions: In the following questions, four figures (A),(B),(C)and (D)have been given in each
question. Of these four figures, three figures are similar in some way and one figure is different.
Select the figure which is different. Darken the circle for answer in the OMR Answer Sheet against
the number corresponding to the question.
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PART-2
FIGURE MATCHING

In the following Questions, there is a question figure on the left side, a part of which is missing.
Observe the answer figures (a), (b), (c) and (d) on the right side and find out the answer figure which,
without changing the direction, fits in the missing part of the question figure in order to complete the
pattern in the question figure. Indicate your answer by darkening the circle in the OMR Answer Sheet
against the number corresponding to the question.

Question Figure Answer Figure
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(b)
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Answer Figures

<A ||| A

(a) (b) (c) (d)

In the following Questions, there are four question figures on the left side. The question figures are in
a series. Find out one figure from among the answer figures and completes the series. Indicate your
answer by darkening the circle in the OMR Answer Sheet against the number corresponding to the
guestion.

50.

dageivisios
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51.

(o) O (o)
| | ¥ A | g [ Hed W)
O
S @ B (9 (d)
52.
NEIEITNEITE A]D O|t|+|A[|t]|O|O]A
s+lolololals|+lo| |(olalolalalolals
A B C D (a) (b) (c) (d)
53.
> N/ % 2/ | [%/)
AN 4N % AN AN
A B C D (a) (b) (c) (d)
54.
DD DD
A B C D (a) (b) () (d)

In the following Questions, there is a question figure on the left side and four answer figures marked
A), (B), (C) and (D) are given on the right side. Select the answer figure which is exactly the mirror
image of the question figure. Indicate your answer by darkening the circle in the OMR Answer Sheet
against the number corresponding to the question.

55.

B

X)

9

ad

e

a

(a)

®)

(c)

(@)
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56.

AR

&

(X)

(ed)

(c)

(b)

(a)

(c)

] ]SS

o Wole U X

(a)

xX)

o

59.

(0) (e) (d)

(a)

A (W D

60.

)

d

(

(c)

)

b

(

)

a

(

61.

(d)

(c)

(b)

(a)
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62.

63.

In the following Questions, a piece of paper is folded and punched as shown in question figures on the
left side and four answer figures marked (a), (b), (c) and (d) are given on the right side. Select the
answer figure which indicates how the paper will appear when opened (unfolded). Indicate your
answer by darkening the circle in the OMR Answer Sheet against the number corresponding to the

guestion.

S5

.

(a) (b) (c) (d)
(a) (b) (c) (d)

xX

Q>

(a)

65

-~
-
.
.
-
.
.
.
e

~ -

P

X
<7 QO

(a)

Y

x>
<7

(b)

7
x>

(olo\
9

(d)

(d)




66

68.

Question Figure

s ol
1= 2l

69.

Question Figure

In the following Questions, a question figure is given on the left side and four answer figures marked
(a), (b), (c) and (d) are given on the right side. Select the answer figure in which the question figure is
hidden/embedded. Darken the circle in the OMR Answer Sheet against the number corresponding to

the question.

Answer Figures

.
(c)

-
L
1
I

(a)

Answer Figures

5
oo

(d)

F

oo

a

,,,,,

\ ly X %0 ocoo
(a) (b) (c) (d)
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70.

NARCERN AN

(a) b) (e) (@)

e aRNES

X)

71

—J

(d)

(c)

(b)

(a)

(X)

72.

—

e

(d)

(c)

®)

(a)

X)
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(d)

(c)

(b)

(@)

(d)

()

(b)

@)

75.

ey ™ T T T TR T

(a)

(O

[

7.
(b)

@)

P

76.

DD ED

=7
-

(@)

(©)

(b)

(@)

78|




In each of the following questions, there is a set of four figures label A, B, C and D called the Problem
Set followed by a set of five other figures labelled 1,2,3 and 4 called the Answer set. Select a suitable
figure from the Answer Set which will substitute this question mark so that a series formed by the

figures A, B, C and D taken in order.

77.

“ yv|4 | |} > > 4> 4> Ay >
& - 6 ] @ & (© (@
78.
- S'{_:. S ? ':W;rl A
Pt A PP~ ) | €] | L2
B Ing| CERSE
PP\ | s
b) &S (d) )PI::\?

In the following Questions, a part is missing as shown in question figures on the left side and
four answer figures marked 1, 2, 3 and 4 are given on the right side. Select the answer figure which
completes the figure. Indicate your answer by darkening the circle in the OMR Answer Sheet against
the number corresponding to the question.

79.
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[T | o IR i i

(b) (c) (d)

[ﬁ.- ) ST

ol vt shs

(b) (c) (d)

fO/G@/? YEEE

@ () () (d)

el R

@ (b)) () (d)

THEIRRCIE

(@ (b) (c) (d)
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86.

87.

88.

89.

90.

91.

. | [ lalala
(a) (b) (c) (d)
El RS 2 A1 IR
(a) (b) () (d)
IR ? \[1/\| 7| X
(a) (b) (c) (d)
@ ::? BN | BB | BB
(a) (b) (c) (d)
i . =
_.;,< = 1 >< + = +
(a) (b) (c) (d)
- 4
(a) (b) (c) (d)
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92.

(d)

(c)

(b)

(a)

93.

AA

(b) () (d)

(a)

PART-11.1 ANSWER KEY

d

20
30
40
50
60
70
80
90

d
d
C

C

a
C

19
29
39

59
69
79
89

d

d

a

d

18
28
38

48 |b |49 |d
58
68

78 | b

88

b
d

d
d
c

17
27

37 1b

47 | ¢

57
67

77

87|b

b

C

b

d
C

16
26
36
46

56
66
76

86 | a

C

d

b
d
a

b

15
25
35

45| ¢

55
65

75
85

b

d
d
c

14

24 | b

341 b

54
64
74
84

d
a

d

13
23
33

43 |b |44 |d

53|b

63| b

73| b

83

93

b

a

d
c

b

12
22
32

42 | b
52

62

72

82 |d

92

d

b
b
C

C
C

Q [A Q. JA JQ A JQ A [Q [A QG A JQ [AjQ A |G JA Q. | A

11
21

31

41

51

61

71

81

91

82|




PART-3
PATTERN COMPLETION

Directions — (Question number 01 to 04) A problem figure is given on the left side and four answer
figures A, B, Cand D are given on the right side. Select the answer figure in which the problem figure is
hidden.

R3S — (7 G&AT 01 | 04) FTS AT Teh THEAT SAFHIT &T TS g ST AT AL AT IAT AFAAT A,B,C,
AT D& TE B1SH AL AR =7 H e gaear sy Bt g /)

O| | €| |8

o (A)  (B) (© (D)
02.
|HEAT-ATFH FwI-rHlaat
J | &P ||
Lo A) (B) (©) (D)
03.
l |
A) (B) (O (D)
04.
|HEaT-SHT FwT-srHfaat
%) (A (B) (©) (D)
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Directions : In Question Nos. 05 to 08, a question figure is given on the left side and four answer
figures marked (A), (B), (C) and (D) are given on the right side. Select the answer figure which is exactly
the same as the question figure and darken the circle in the OMR Answer Sheet against the number
corresponding to the question. .

fTGRT: U9 T 5 A 8 T, SRR U U 3N d 4l T8 & SR a8 3R IR IR SHad! (A), (8), (C)
3R (D) 3ifard &1 IR AP BT TG4 B ol [Sepd UY AP & THH § 3R SNTHAAR IR
Uolch B U ! I TREAT & JrH Il ! DTl HR |

Question No.- 05 to 08

S _—
-[B]] [® @] [® [
jus|jasjaspanias
WYY
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Directions In Question Nos. 09 to 12, there is a question figure on the left side, a part of which 1s
missing. Observe the answer figures (A), (B), (C) and (D) on the right side and find out the answer
figure which, without changing the direction, fits in the missing part of the question figure in order to
complete the pattern in the question figure. Indicate your answer by darkening the circle in the OMR
Answer Sheet against the number corresponding to the question.

=T U3 e 09 T 12 T 913 3R TH U TH I §, FoRIepT T U 194 § ISTRATHIa! (T), (&),
(@ SR (S B T8 SR W SR IR MM BT Ul Ty, S fe=m st o1, Tt Sirepfal & aroan
e o e 81 St § o1fcs U o1 1 ol SiTas 1911 TSRl H Ue 199 & Sy el & ATHH
TSR IIRYD T gl ! BTl B T ITR SR BN |

Question No- 09-12

Question Figure Answer Figures
09
A (B) (&)} (D)
10 X @ 3 g
(A) (B) © (D)

= S -

(A) (B) ) (D)

(A) (B) ) (D
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Directions : In Question Nos. 13 to 16, there are there question figures on the left side and the space
for the fourth figure is left blank. The question figures are in a series. Find out one figure from among
the answer figures given on the right side which occupies the blank space for the fourth figure on the
left side and completes the series. Indicate your answer by darkening the circle in the OMR Answer
Sheet against the number corresponding to the question.

=T : Uy e 13 Y16 T, T8 3R UY MBIl § iR Al sMpfd & fog w @rel ®is faar
T § 9% TReAT Ueh el 1 & 1375 3R TS IR Sfiapfadl & I U Tt Spfasid HIfoTe it a1g
3R A1t Sepfa & foTe RadwiT ekl § SR S &1 T Bl 8 1UY & SFT W& & e
THSR FTRUAD H G Pl BT Db U STR SRId DY |

Question No.- 13 to 16

Question Figures Answer Figures
g o)
X (@]
O X x
13 o 2 X ? o e % °
o g X [e} X >
A) (B) (C) (D)
o o x
14 =
?
o o o] [ole]e]e]
A) (B) © (D)

A) (B) (&) (D)

16| A — |0 >0 O 0 ‘ot ¢ ol o
o olo V|« V : < 0Oll< ollw aolls 0O
S ' ) (B) «©) D
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Directions: In Question Nos. 17 to 20, there are two sets of two question figures each. The second set
has an interrogation mark (?). There exists a relationship between the first two question figures.
Similar relationship should exist between the third and the fourth question figure. Select one of the
answer figures which replaces the mark of interrogation. Darken the circle in the OMR Answer Sheet
against the number corresponding to the question.

S Uy Wear 17 ¥ 20 H, YA A €1 U SMHfadl & 21 U IgW I | U Y13 g (?)
B IUEd & UHl & 3fidal & ol U ey UGG & ISU! dREHT Tt AR 3R 1Y T 3Hid &
a9 BT IIRUISTR SMHiadl H ¥ Th HTaa &L Sl YSdIS & A= &1 ofe ddl ¢ 9% &
SIEY AT b A SHTHIR ITRUAD H T B! BTl DY |

Question No-17 to 20

Question Figures Answer Figures
17 . . . ? \
() N A L
(A) (B) (C) (D)
18
5o sl 52 4 Taad O || O ||

O
O
O
I
E
&
gl Oas

W i L 5 g [
(X %% é// = //A//d //;%

(A) (B) (&) (D)
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Directions : In Question Nos. 21 to 24, one part of a geometrieal figure (“Triangle, Square, Circle) is on
the left side as question figure and the other one is among the four answer figures (A), (B), (C) and (D)
on the right side. Find the figure on the right side that completes the geometrical figure and darken
the circle in the OMR Answer Sheet against the number corresponding to the question.

ST - Uy e 21 9 24 §, ST SMepfa &1 T HIT (B, arf, o) o1 3R U i &
0 H g 3R T IR IR 3B (@), @) & T Th g1 (@) 3R @ a3 3ARITE 3R B
THIAD!] TSl SISATHA 3B DI TR Bt § AR U & 3T T & AT SHTHSIR
IIRYFS H Ghdl bl I Rl 3|

Question No- 21 to 24

Question Figure Answer Figures
- é ?}l % & é
(A) (B) (C) (D)

C e v | D D

(A (B) (© (D)
23 [7 IF il 3 7
(A) (B) (© (D)

2L DI~ [ (>

(A) (B) (&) (D)
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Directions : In Question Nos. 25 to 28, there is a question figure on the left side and four answer
figures marked A), (B), (C) and (D) are given on the right side. Select the answer figure which is exactly
the mirror image of the question figure when the mirror is held at XY. Indicate your answer by
darkening the circle in the OMR Answer Sheet against the number corresponding to the question.

fde : usrieET 25 W 28 H, 9IS 3R U Y ATpid B 3R TS 3R IR IR AT A), (B), (C)

3R (D) Sifhd & 13T IR MBI BT T4 B Sl U Bl Xy TR I/ R UY 3BT FT fdepa

%ﬁﬁm%w%mﬁw%aﬁﬁmmwﬁﬁﬁmm PP AT IR
|

Question No-25 to 28

Question Figure Answer Figures

X

23 | % X X ISX| X
v (A) (B) () (D)
X

26 | x@=C Cc=2X 2=6X 2=0X 2=6X
Y (A) (B) ) (D)
X

27 | INK %0, AN ANI D 11%
v (A) (B) © (D)
X

28x—+ x++ ++x l+-)(‘| Lk—j

\ + - — - +

v (A) (B) TS (o
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Directions : In Question Nos. 29 to 32, a piece of paper is folded and punched as shown in question
figures on the left side and four answer figures marked (A), (B), (C) and (D) are given on the right side.
Select the answer figure which indicates how the paper will appear when opened (unfolded). Indicate
your answer by darkening the circle in the OMR Answer Sheet against the number corresponding to
the question.

&R Ui 29 A 32 7, BT & Ueb gobs b1 HIST 3R fedfer fobam Simern 8 o b a1 iR oy
3t o feamar T g SR IR STRSATHAAT (A), (B), (C) 3R (D) 3ifhd & T 3R [FH IR
31T BT T B S I8 1A BT b PTTe Wie WR (AT 3M) T fears vy &
I YT & HIH TSR ITIRUFD T gl ! BTl Hdb U ITR SR BN |

Question No-29 to 32

Question Figures Answer Figures
29 . 5 ks l‘th:
g T ! BaE s FF :h
(A) (B) (C) D)
30 = [0
D:ZI ] 0 (0
(A (B) (C) (D)
---: ' °° °° °° .° °° °°
31 _'_J. I_: °° C° °° °° °° 0.
: * ] < °°e a°° e°° o°° o° .
e S s C [ o © o o
(A) (3) ) (D)
e NG 1 | RS 1 1 T | O R R
7~ & 1 ! o b
32 PR e \\: //\ ' P A A Pa e o o
iy ‘ o N S O o N \ A
(A) (1) o D
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Directions: In Question Nos. 33 to 36, a question figure is given on the left side and four answer figures
marked (A), (B), (C) and (D) are given on the right side. Select the answer figure which can be formed
from the cut-out pieces given in the question figure. Darken the circle in the OMR Answer Sheet
against the number corresponding to the question.

TIGRT: U9 BT 33 ¥ 36 T, TTE 3R U U 3P ol 715 & 3R aTe 3R IR IR TPl (A), (B),
() 3R (D) 3ifohd & 13T ITR ATHA BT T B Sl UY P | foU T He-313¢ Thal A §15
Sl & 198 & 3T WA o AT SNTHIR STRUAS | TIel DI BTl oy |

Question No- 33 to 36

Question Figure Answer Figures
== zg e\
‘ (A) (B) © (D)
34 - | I
ACN %
(A) (B) © (D)
" 0008) N (D \
(A) (B) (©) 1))
& 7 ] 2 %
| j | %
T AJ | (A) (B) (&) L (D
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Directions: In Question Nos. 37 to 40, a question figure is given on the left side and four answer
figures marked (A), (B), (C) and (D) are given on the right side. Select the answer figure in which the
question figure is hidden/embedded. Darken the circle in the OMR Answer Sheet against the number
corresponding to the question.

G2 Uy @137 § 40 H, T3 3R TH U 3P &l 718 ¢ 3R a5 3R IR IR HIad (A), (B),
(0) 3R (D) 3ifrd TIFT IR MBI &1 T4 B oy T Uy snpfa fsdi/sia Hied g1uy &
U BT b HTH STHSR JARUAD H el Dl HIel HY |

Question No- 37 to 40

Question Figure Answer Figures
—
37
| o
(A) (B) (C) (D)

(A) (B) (C) (D)
39 \ ‘ \ J
| ! \

(A) (B) © (D)

: >

40 / //
\ , /’ :
PO

(A) (B) © (D
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Instructions — (question numbers 41 to 50), four figures 1, 2, 3 and 4 are given in each question. Three
of these four figures are somewhat similar and one is different. Select a different shape.

forcT -
(V1% TS 41 ¥ 50), TAH U W AR 3f 1, 2, 3 3R 4 R B 17 IR H J fH o o5& 8¢ &
A § 3R U 3@ § 1T 31T HR A |

41
z =z — —
- = == =
(A) (B) (<) (D)
42.
A AT
(B) (©) (D)

43.

Z| & | £ | £
L=l d | =
(A) (B) (€) (D)
NI
(A) (B) (€ (D)
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47.

S
-

===

(D)

(A) (B)

48.

¥

(A) (B)

49.

o

3_

3o
A [
S| A

50.

A ZaY I Fasl s @ (12N
|| >/
(©)

(A) (B} (D)

Instructions — In the questions ( 51to 60), a problem is given on the left side. One part of this shape is
missing. Look at the 1, 2, 3 and 4 answers on the right. Find the shape that fits in the missing part of
the problem without changing its direction in such a way that the pattern of the problem shape is
completely formed. goes . Choose the correct answer.

3= - U8 (51 We0) T I12 3R TH U a1 71 B 139 STHId &1 U YR TS g1 1, 2, 3 3R 4
JWRI DI 8 3R W | T8 AP J1d Do o AT &b Wl UFT H D! G g o1 39
UHR fthe 81 ST 8 fob Tret 3Miepfa &1 Ued gt aRe ¥ &9 SITd § 198! SR 1|

51.

(A) (B) (€ (D)
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52.

AT 2T FEC-ATF Al
: ~~TH
(A) (B) (<) (D)
53.
A EAT—3TTgs e =erT—aTentaral
_..--:-=""" 7
/Kl S W N\
(A) (B) (€) (D)
54.
T3 FET-BATeRT et
? } >
(A) (B) (<) (D)
55.
WHET-ATFHA IT-HATHIaAl
(A)  (B) (<) (D)
S-St
(A) (B) (c) (D)
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57.

i“?‘ e
(a) (B) (C) (D)
58.
HHIFIF Il A |
(A (8 (@ (D)
59.
ECE
a ® (@ (0
60.
bl ] [ Pl
(A) (8) (<) (D)

Instructions — The questions (61to 70) have three problem-shapes on the top side and a blank space
has been kept for the fourth. Problem — Shapes are in a series. Find which of the answer figures given

below meets this series. Choose the correct answer

32 — U (61 T 70) B SW I THAT-MHIAT § R DY & oW v Rad wE w@r ma
S 1HT - 3MTp il U §@ar § g IF1d B fob et & 18 -3 SR siepfadr 39 sadr 9
forereht & 19gt SR A

61.

~[o[d

2

S

(A) (B)

(C)

(D)
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(A) (B) (<) (D)
63.
T TR et
|| | | r I ‘-?
=Fer-aAaTaRtaat
(A) (E) (<) (D)
64.
HHEET- 3Rt
g I P
FeL-sATRiaal

65. .
& Hjc Lﬁ@j '? ‘ oso | | anac | | caca | |oacas
(A) (B) (€) (D)
66.

EEERIEEE

() (B) (<) (D)

XX | KX

(A) (8 (© (D)

97



1 5] T

(a) () (c) (D)

70.

")

V

INZRINA

(D)

Instructions — Three problems in questions (71 to 80 )— After the figures, there is a question mark
mark in place of the fourth. The first two problems — shapes have a correlation. Similarly, there
should be a relation between the third and fourth problem —shapes. Answer — Choose a shape from
the figures that can fit exactly on the place where the question mark is indicated. Choose the correct

answer..

e sl 7 1 U (71 2 80)- 3ihl & I1E WY F WM WR UY a8 T 8 [U8a & JHITY
— TP BT TP Tty g 13 avE, ARt 3R At T - 3repfadi & ofe dde g1 a1feu 13TR
— STl B § U Ml &1 T BT S vyaraes fog & M W e fhe 8 9o 19

S
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| ———

~1l o PN 7\ /;\—
| JI_L:)_I' v 1N/ ? \*(\2/
b — " | e SRS o Mangll
(A) (B)
72.
TEEaT-3ATFfaat
| p)E =
FaT-23TFfaaft
> + + < O < > O
> - —+ < (@] < > O
> -+ -+ < (&) < > (@)
(A) (B) (C) (D)
73.
wHET-ATHfaat
s A
o | O | o5 2
A § 2.3 | :
IA-ATHIaAT
e e e s
©.1 0 10 | D
(A) (8) (€) (D)
74.
FHEAT-ATHT
-y L o4
u N =" 7
v | &
Iav-angiaal
B 6D = S
iz g [ ol
eV 49 v v

)

(€

(D)
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(A) (B) (€) (D)
76.
waEar-angtaat
-
(e[ Ay | ?
Fwe-angtaat
= B {: L=

77.
e rHtaat
SE
C | -
IT-rHfaal
[ =
¢ - =
(A) (B) (€) (D)
78.
waEaT-ATFHtaat :
ACO @ looa|l 2
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B

(A)

()

(9]

(D)

=

L

_

(A)

Directions : In each question (81- 90), a part of the geometric shape (square, triangle) is given as a
problem figure on the left side of the line and four answer figures 1, 2, 3 and on the right side of the
line are given. One of the 4 is its second part. Find the shape that completes the geometric shape
from the answer figures on the right. Choose the correct answer)

& : Qe U (81- 90) H X1 &18 3R S 3Mpfa (a7, Fiel) b1 Ueb HITT FHAN 3H1epfcl
& 0 a1 T § 3R IR IR Pl 1, 2, 3 AR SR SR TR g Il TR gl 4 H A TH
ZUPHT GIRT U g IETS 3R IR ATHIAal § ST BT BT IRT HRA aTell 3Tpia &1

(B)

AT 98T TR )

81.

()

(D)

Sl <

S

S|$

(A)

(B)

(€)

(D)
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(B)
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87.

>

S

88.

(A)

(B)

(€

(D)

\

N

89.

(A)

(B)

(€)

(D)

T

L]

90.

(A)

()

(€

(D)

%

V

£\

b

(A)

(B)

(€)

(D)

Instructions — In the questions,(91-100) a problem is given on the left side. One part of this shape is
missing. Look at the 1, 2, 3 and 4 answers on the right. Find the shape that fits in the missing part of
the problem without changing its direction in such a way that the pattern of the problem shape is
completely formed. goes . Choose the correct answer.

=T — osfi & (91-100) ITE 3R T Uy O T B 139 1P &1 U UM MG 81 1,2, 3 3R 4
JIRI P T8 3R <K (T8 HTHA A1 Do Sl THET & T H S [GREad foH1 39 ThR
fthe g1 oIl & fob Tva s i &1 Ue Ot aRg A a4 a1 8 1 Yl SR A |

9l.

(A)

(B)

()

(D)
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92.

?
(A) (B) (9] (D)
93,
?
(A) (B) (9] (D)
94.
?
(a) () () ()
95.
?
(a) (8) (© (0)
9.
wl I | R e
(a) (e) () (o)
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97.

(D)

()

(B)

(A)

98.

(D)

(€

(8)

(A)

99.

o | 0

e

VN

A

N 2

(D)

(€

(8)

(A)

100.

d

/

=

Y

(D)

(€

(8)

(A)

PART-III ANSWER KEY

<|lojlu|ojulo|alo|u|a| <L
o|lolo|lolo|lolo|lolo|o
| NN F|D|O|R|o|n|D
g =
<|lo|lo|<|ao|ajlalo|<|o|o
Jolo|lolo|o|oa|oa|o|oa|o
g AN || O ~]|co|d
<|lm|lo|u|m|O|m|lalo|alo
|oo|oo|co|oo|co|oo|coloo|colfoo
d Al N[N |F|O| O[]0
<lo|<|o|alo|o|m| | <o
i~ s s s~~~
d Al N[ |in|o|~]|co|on
<|lao|lo|o|lo|o|a|la|l<|ao|o
|lolo|lo|lo|o|o|lo|o|wo|wo
d AN |F|n| O =<]|co|D
<|oo|lao|<|ao|o|a|la|lao|alo
Juuv|v|v|v|v|v|v|n|n
d Al N[ || ©|~]|co|
<|lo|lu|o|ala|d|lalol<|u
||| | | |
dJd Al N[ |n| O[]
<|u|lu|m|o|o|U|m|m| |
Jenjm|en|m|on|o|on|o|on|om
d Al N[ <|in|o|~]|co|n
<|ao|<|m|o|<|a|lm|<|<|m
Jolalalalalalafa] ol e
d AN |in|o|~]|co|n
<|<|a|a|a|<|aluo|alalo
R B B e B B e B B e B R e B B e B B B e B |
d Al N[ <|in|o|~]|co|n
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Select the answer figure which is exactly the same as the question figure and darken the circle in the

PART-4

FIGURE SERIES COMPLETION

OMR answer sheet against the number corresponding to the question.

SNO. Question figure
01.

Answer figures

02.
03.

=

=

DD @) |

04.

sy

05.

SIS

(A)
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SNO. Question figure
06.

07.

08.

09.

10.

Answer figures

VIV
AV

VIVIIIVIV]]IVIV]]IVIV
VIVIIIAIA] ] [AIV] ] 1AIO
(A) (B) (<) (D)

(A) (B) (€) (D)
e— e o[ le e ™M e *or— e
(A) (B) () (D)
(A) (B) (€) (D)

(A)

(<)

(D)
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SNO. Question figure

Answer figures

%) EEEE
G| & || &F | &F
ESIEAES IS
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SNO. Question figure

16.

17.

18.

19.

20.

|'- -
AN o
: _ s (S| L,
a o o
T
—- AN 0
g = = | |T -
5 £ g < = <l g
= \%\. v, L
5 -
>
< AN
=, | ~ s 0
) @ o = < )
NN L
_ AN ~ A
— — ﬂn —
< I < 1 |2 o I
- NN
. <
i AR .
<]
SN
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SNO. Question figure
21.

A A

22.

23.

24,

25.

> O
Do

Answer figures
’5\ fﬁ-—-‘\ rf_-‘\\ rf-\
AA AA AV
v o L™ a A L™ ﬁ "
A S N =y
(A) (B) (€) (D)
P l | [ | L] | I #
| | | I
(A) (B) (€) (D)
=] % olo v aolo v =] % o
(A) (B) (€) (D)
D%/ [é/ C%/ AKD/
(A) (E) (<) (D)
O o Sl ol @
o oo go oo 0
V QOlA olA gl A
(A) (B) (€) (D)
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SNO. Question figure
26.

27.

Answer figures

3
)

S
(€

=) =) =) D) %
o] [© o M| [l [©o|] |
VY \SJ, O VAY =y
(A} (B) (C) (D}
28.
\VNERVN, W WI X X ITWWI W W
X X X Y IW WIW W X X
(A) (E) (C) (D}
29.
(A) (B) (C) (D}
30.
S 8 [ [8-1-48
O TP
(A) (E) (c) (D)
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In Question no. 31 to 70 a question figure is given on the left side and four answer figures marked
(A),(B),(C),and (D), are given on the right side .select the answer figure which is exactly the same as
the question figure and darken the circle in the OMR answer sheet against the number
corresponding to the question.

31.
{[=1]]
LA (B () ()

32.
z ++ +H +H +=+
A (B) () (I

33.

Ay (B} ) ()
34.

== [E [E E]

A (B) () (D)
35.
o
2N B EE
(A B <) @)
36.

37.

|| (D] = =

38.

IEESlEERESRESNIES
A (= D )




2| EB] [EB] e [EB
A (B2 (D ()

40.

£=2 |15
(A (B) < )

41

—

=)

LA

4

4

45,

46.

(B) C) (D)

42
=
CAD (B ) P

3.
e 1 O e o O e o O e
LA (B> oy e

4.
Se||[me] [« [==] [==]
€A (B ) ) ()

5
NN = BE =
A0 (B (C) )

6
<[] =] =] =
(A (B () ()
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47.

48.

ol

vl

Ol

A

as)

(@3

49,

50.

(B)

)

B)

(&

A B) ) aa»
51.
e < i 2 T
S, JE | [ 32| [3E] | ZE
L) (B ) (12}
52.
A B ) as)
53.
A B> > >
54,

&

%D (B} (D (1)
55.
= 2l | [T || | =]
Ay (B L) >y
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56.

g

57.

L0

[< 5
11

111

Oy

L) =
58.
=l ‘ S [
CA)
59.

L0

N

62.

63.

T

EN

[

A0

[@I[@[ =N

(B

LM

=]

(4=

CD

][]

Mg

%lﬁ

L0

(B

(D
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64. Out of the given answer figures, which is the correct one to replace the question mark?
A v

TR ?
w B ©°T*
(&) ‘31—' (D):—l"

a.B
b.A
c.C
d.D

65. Out of the given answer figures, which is the correct one to replace the empty box?

O O O|C O Oolo ©
o ) A
A A A A AA A A
O O Oolo o [e)
A A A A A A
o O o
A
[e) . O O O]|lc © o
A A A A A Aalla
(A) (B) (C) (D)
a.D
b.C
c.B
d. A
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66. Out of the given answer figures, which is the correct one to replace the question mark?

Problem figures :

WO

Answer figures :

(A) (B) (€) (D)
a.B
b.D

c.C
dA

67. What comes in place of question mark?

' I =
CH P ||tHs 7?7 s P
‘ - | C t4
i
(A) e ot
'ﬂgs (€) PXC

—

‘ 11 N4
(B) PDC (D) 5

a.2
b.4
c.1
d.3

68. Out of the given 5 images, one image is not same as the other 4. Which is it?

A
®)]

= A
o o

4>+
4|10]+

O
R
x

X
+|d4|0

40|00

+[0]4

(A) (B) (€) (D) (E)
a.C
b.D
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c.B
d. E

69. Which is the next shape in the series?

70. Find the figure in the place of question

(A) (B) () (D

)
71.Which shape is the next in the series? ”]mm

——

(A) (B) (<) (D)
4
‘:ﬂ fﬁ""
({...- (‘f 7
:—- N\
Q; \t-
72. Which is the next shape in the series? N

Y

4
<

(<) )
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73.Which is the next shape in the series? mﬂ] § % § .

O ) E&

(a) (e) (c) (D)
74.Which is the next shape in the series? V
o
(A) (c) (D)
=
_—
SO ®E
) N .
75.Which figure is the next in the series? =
=
S P
= =3
(A) (B) (C) (D)

76.Which figure is the next in this series of figures?
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77. Which shape is the next in the series? D l

L

A

78. Which figure is the next in the series?

wﬂ@ﬁ
D Eveng

79.Which is the next figure?

=) »
(A) (B)

(<)

PART —4 ANSWER KEY

XA 1)

Q |A JQ JA Q. JA Q. JA Q. JA Q. A Q. A JQ A [Q A [ Q A

1/D| 2|D| 3|D| 4|/D| 5|C 6|C 7D | 8D | 9|A |10]A.
11|/C |12 |D |13 |A |14 |A. |15|B |16|C |17 |B |18|B |19|B |20 |C
211 C |22 |C |23|D |24 |D |25|D |26|A.|27|C |28|C |29|B |30|B
31 |A |32|C |33|B |34|A |35|D |36|D |37|C |38|B |39|A. [40|D
41| C |42 |B |43 | D |44 |D |45 ]|A. |46 |B |47 |A. |48 |B |49 |C |50|D
51|B |52 |B |53|B |[54|A. |55]C |56 (B |57 |D |58|D |59|C |60|D
61|B |62 |A |63|C |64|B |65|D |66|D |67|A |68|B |69|A. |70]|B
71|(B |72 |A. |73 |C |74 |A. |75|B |76 |D |77 |A. |78 | D |79]|B
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PART-5
ANALOGY

When you compare two things it becomes an analogy)
Topics under Analogy

A)  Alphabet Analogy

B)  Number Analogy

C) Analogous Pairs

D) Detecting Analogies

E) Non-Verbal Analogy)

SIELR]

S T A TAAT FLQ € AV I TG o A1 gl
RIEER E T LR

A)  FOHTAT TG

B) H&ATHART

C) HAIETTE

D)  SIEIQT T QAT A

E) et arged

1) Alphabet Analogy

As the word stands, analogy means a correspondence, a relationship between something and
someone) In these questions, a group of two words is given we have to establish a relationship
between them and then find the answer based on such relationship)
Solved Example
Q- CDEF : MNOP: : UVWX:?

A) DEFG

B)EFGH

C) GHU

D)ABCD

Answer: In this question, first, you need to establish a relationship between CDEF and MNOP) And
then look for the same relationship for UVWX and the answer) Before starting to solve the
question, first assign the numerical values to all the alphabets and make a table as given below:

JELGISIGIEER
T % AU, AT F1 3 § T A=, Felt <ot ofix feft o <fit=r o7 d<ten) <7 el , < ersal o7
T q9g o7 74T 8, TH S S 19 Herel ST AT ¢ i< [h UH e o AT I IAL G 3
SETE:
) CDEF: MNOP:: UVWX:?

A)DEFG

B)EFGH

C)GHIJ

D) ABCD
AL T T § GE T SITHT CDEF ST MNOP & 1= Haier eTiua i st ST&<a g13f¥ fohT Uvwx
S 3T & g 0T daer it TATT HL T FT A A F gt THT T & G&ATHS ATAMIQE e
A F= &t 72 qriereT T9TC:

121 |



H=8 0=15V=22
I=9 P=16 W=23
J=10 Q=17 X=24
K=11 R=18 Y=25
L=12 S=19 7Z=26
M=13T=20

G=7 N=14U=21
Practice Questions/3T=TaTT
1) DFH : EGI :: MOQ:?

A) MQO

B) VXZ

C) oam

D) NPR

Mmoo w >
1]

1
2
3
4
5
6

2) LMN : QPO :: OPQ:?
A) MNL
B) NML
C) ONM
D) LMO

3) CEG : IKM :: OQS:?
A) YWU
B) UHY
C) WUY
D) UWY

4) ODEQ : PEFR :: : NQSP
A) MPRO
B) ORPM
C) PROM
D)RPM

5)0Q:RT: : NP
A) MN
B) LM
C) KM

D) PO

6 ABC: EHG :: : MNO
A) IJK
B) ORM
C) ROM
D) RPM
7)A:Z::B:
A) X
B)Y
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Q)z
D)W

8) CAT : TAC:: : DOG
A) GOD
B) GDO
C) GBO
D) BGO

A) MPRO
B) ORPM
C) ANAN
D) RPM

10) QR:STU :: : CDE
A) AB
B) BC
C) PF
D) AC

Ans: A) AB
Q |A |Q A |Q|A|Q |A|Q |A|Q|A|Q |A|Q |A. [Q |A |Q | A
1/D| 2|B| 3 C Al 7 10

&)
B
>
ul
(o))
w
co
>
©
(@)
>

II) Number Analogy
Understanding Number Analogy is a crucial step in and use this concept to solve some questions)
Broadly speaking, the Number analogy based questions may be of two types:
Find a missing number from a given analogy)
Find a set of numbers that are related to the same rule as the one given)

Il) FETATEeT
AT ATZLT Tl HAAT Toh AZATU HaH g 3T TS T FT G F & [T T TTETT FT STIRT
T SITaT {ITTE IR U, SEAT QgL TR T &7 T & g1 9hd &
o & TS AIGLAAT A A FEAT AT Ffvry|
TS T Tk THg @t o7 (¢ 1¢ [{aw F a9 & qataa gil

1)which is not related to the same rule)
St R g g€ AT a8 )

A)96: 15

B)19: 10

C)67: 12

D)56: 11

Q 2: Guess the next number: 19:95:: 60 :
STt H&AT T ATATT AT3C: 19: 95 :: 60 :
A)300
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B)200
C)500
D)600

Q 3: Guess the next number: 23:529::12:
WWWWW:ZS :529::12:
A)144
B)123
C)321
D)312

Q-4:Guess the next number: 5: 125::4:
STTAT AT T AGHIT AMSY [5:125::4:
A)64
B)123
C)321
D)312

Q-5:Guess the next number: 2: 200:: 4:
SITAT AT T ATHIT NS [2: 200 ::4:
A)64
B)123
C)321
D)400

Q. |A. |Q. |A Q. |A Q. |A |Q | A
1({C| 2|/A| 3

pd
I
prd
vl
O

[lI)Analogous Pairs
An important type of analogies are the questions based on analogous pairs) In this section of the
exam, a given set of analogous questions are provided) By examining the given data, the candidate
is expected to find out the rule of the analogy and then apply this rule to complete the analogous
pair or any given series) In this, we will build the concepts of analogous pairs and use the rules to
solve expected questions based on these rules and other similar ones)

INERISEIN
T HE@U TR il A13eT GHET AT I TR T ZITOET F 36 @< |, G0 W1 #7 TF 9
AT 1fRwy stiwst Y = e, G199 F AT &7 9q1 e i IFHT $it SIredt § ik e zw
RIwar AT ST T €1 TS @t H T A F [ A0 37 14T 31 3899, §9 A€ T SIS 6l
FETorTS &7 fAwtor G S 37 Raat i 6t 938 & o= [Rawt & arem o< srfea wii & g
FL & forg AW &1 STTET AT
Example 2: Complete the analogy:

ST 2: FIGLARITHY |

Polio: virus :: food poisoning:
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A)Fungi
B)Algae
c)Nematodes
D)Bacteria

Answer: This is an easier example) The questions in analogous pair section are could be based on
any rule) They could be based on your awareness, aptitude, or vocabulary) Here we see that polio
is caused by poliomyelitis which is a virus) Food poisoning, on the other hand, is caused by listeria,
salmonella and other microbes which are all bacteria) Hence the answer is d) Bacteria)

1ﬂ'&\’l'?ff:EI'I?T{"EF::%“3I'T'&‘Frl'ﬁ:l1T:

A)  FEF

B) &rarel

C) AuEE
D) SFifaEr

AL T T AT IITELVT &1 THET T SIToTT § o7 Fobeft off Ry o e @1 @ €19 sroht
STITEHAT, TIAT AT STSRTAT I STATIT 81 9hd g |T81 §H S@d § [ TITerdr Qe ATSaATSed &
I AT § ST T 1A §ITEE A, FEUISHAT e AT, arer=ar ik et & HTor
graT g S et ST gia g 19143 § d) Shar)

Practice Questions/3 =TT
Q1: Find the missing number?

Ql: I G AT A@ HIST?: 27:3 1 999 :

Q2: Complete the analogy:
TG T H: Cardiologist : Heart :: Chiropractor :

W%@W:W::'{I@aﬂ:_

Q3: Guess the word:
Q3: QWWW?’IJIIQ': ABCD :DCBA:: OPQR:

Q4: Guess the word:
Q4: 915 T ATHT TTT:AD:EH ::

Q5: Guess the word:
Q5: QWWW?’IJIIQ': TATA:SASA ::PAPA:

Q. | A Q. | A. Q. | A Q. |A | Q. |A.
1(111| 2 | Joints RQPO | 4 | NQ OAOA

w
v
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IV) Detecting Analogies
Detecting analogies are very fun questions) Questions on Detecting Analogies check the candidate
on various aspects of awareness, vocabulary, general knowledge, reasoning and sometimes even
aptitude) The candidate is given a group of words or letters or numbers and is asked to find out the
rule that governs the given arrangement of numbers) The more the number of terms, the harder
the question becomes)
Questions Based on Vocabulary

V) AT /T IQAT AT
STATAT FT IAT TRET FET ASQRK T BITATAT FT qQqT A GTT ARTEHAT, M1,
THTAST, T ol FHT-FHT Tar F R sget o< Seficar i sti= 3 §Isehiea & st
T A AT AT FT T ag AT S1ar € i S S° [gw &7 qqrevn+ & g &gt srar § S
HeTstt it EhTs. saeATR T war giersat i dear Rraeht srfaw gft, v Saaet Fie grar
ST

EAERIREE CHRGREF

Type 1: Completing The Analogous Pair

In this type of questions, two words are given. These words are related to each other in some way)
Another word is also given. The candidate is required to find out the relationship between the first
two words and choose the word from the given alternatives, which bears the same relationship to
the third word, as the first two bear.

Q 1: Newspaper : Press : : Cloth : ?
A) Tailor
B) Textile
C) Fibre
D) Factory
E) Mill

Q 2: Bombay : Maharashtra : : Trivandrum : ?
A) Calcutta
B) Gujarat
C) Rajasthan
D) Kerala
E) Sikkim

Directions : In each of the following questions, there is a certain relationship between two given
words on one side of:: and one word is given on another side of:: while another word is to be found
from the given alternatives having the same relationship with this word as the words of the given
pair bear. Choose the correct alternative.

Q 1: Moon : Satellite : : Earth :: ?
(a) Sun
(b) Planet
(c) Solar System
(d) Asteroid
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Q 2: FOOTBALL : FOOT :: CHESS : ?
A) FOOT
B) HAND
C) NOSE
D) EAR

Q 3: Influenza : Virus : : Typhoid: : ?
A) Bacillus
B) Parasite
C) Protozoa
D) Bacteria

Q 4:Andhra Pradesh:Hyderabad::Arunachal Pradesh::
A)ltanagar
B)Dispur
C) Patna
D) mumbai

Q 5: Melt : Liquid : Freeze: : ?
A) Ice
B) water
C) Solid
D) Crystal

Q 6: Clock : Time : : Thermometer: : ?
A) Heat
B) Radiation
C) Energy
D) Temperature

Q 7: Muslims: Mosque : : Sikhs : : ?
A) Golden Temple
B) Medina
C) Fire Temple
D) Gurudwara

Q 8: Paw : Cat: : Hoof :: ?
A) Horse
B) Lion
C) Lamb
D) Elephant

Q9: Guava, Grapes, Green mango,
A)They are all vegetables
B)The above are all fruits
C)These are all roots
D)These must be modified parts of the stem
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Q10) carrot: Roots::papaya::
A) Roots
B) flower
C) fruit
D) stem

Answer Key:

>
o
>
o
>
o
>

Q. |A. Q. |A Q. [A. |Q A |Q A JQ |A Q.

1|B 2|8B 3 A | 5|C 6|D | 7

O
B
w)
00
>
©o
w
-
o
@

T ST : TGLT AT T
TTET 1: ATET STIST il T HLAT
TH T & 71 | T 91 foq ¢ §1 T arsx bl 71 Fobelt &7 & straer & 2 g €)1 O i) areq oy =
TAT g1 STHIT ITX FT g QT ATR1 6 o1 Gae HT IqT A i< T 10 oot & & 39 915 &7 947
FA o AFLTHAT 8, ST IS &I W o € § F19X 758 o G Gae T@av gl

T 1: @I : AT : : YT : ?
(@) =T
() Fa=T
(¥ft) wrEax
(1) HTCETT
) =

T 2: T WYy Bdew ?
CUKSE
() TrsTeT
(<)
(%) e

Ader : e fofaa va@as w1 % Re g @ st & = o [AfSa deg 8 i ws s @l aew e
AT &: 5t o wwT " arer i e et # & g Sree @i § 39 o0 & qr RUAT TS *
ST & &Y H gl [asheqd &l 999 F
T 1: HEHT : I - T« ?

(Q) gF

() 7

() Hriew

(1) geIg

T 2: Pl : P o AT : ?
(@) &
(&) &
() 71
(1) Fr
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T 3: TTRIUSIT : AT : TR : ?
WEILEE
EURISIED
GUEIGEIED
SIEEELEL

T 4: ATETRST: §ITATE :: ATVTAAARET: :

(T) ST
(sfT) R
GUREEL
(&) q=s

T35 e qr: s, 2
(T)
(ef) areht
(<) 3
(&1) Tt

I 6: AST : G : : THIHIET : : ?
() it
(&) Rfaor
() St
(&) ITIHT

TF 7 : HATH : Aiesrq : g ?
(7) ToiE iR
EHEERL
GUEIPGIESS
(<) e

Q"H'S:ﬁﬁlT:ﬁv_vﬁ'::lg'(:: ?
(T) |=T
() ax
(€T F=
(1) g

T 9)NHES: e : : AT ?
(T) &1
EKES
(&) TTT
SUERIE
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I5710)) ML : T :: 7T :

(T) TE

(sfT) =t

() w=T

(&) '
I
Q. A | Q. | A Q. |A. Q. |A. |Q. |A. Q. |A. |Q. |A.|Q. |A. |Q. |A. | Q. | A
1|8B 2| B 3/D| 4|/A| 5|{C| 6|/D| 7|\D| 8/A| 9B |10|C

V) Non-Verbal Analogy

Reasoning requires logical and intellectual skills as well as practice. One of the most important
parts of this reasoning is the non-verbal analogy) It is important that you know the shortcuts and
tricks so that you can solve these questions quickly because time is the most important factor.
These tricks can help you solve questions

When you compare two things it becomes an analogy. And in the non-verbal analogy, you compare
two similar figure and find the relationship between them. You can easily master this topic because
unlike other questions this one does not require any numerical skill. Also, you don’t need to
remember any formula while solving the question.

Rotation of the Figures
In this type of non-verbal analogy questions, you need to establish a similarity between the first
figures and then apply the same rule to the other two figures and find the missing figure) If the
guestion is based on rotation than you need to determine how much do the figures in the question
rotates in comparison each other. Once you have established the amount of rotation than you
need to check on the other two i.e. one in the question and one out of the figures given in the
answer to check which is the correct figure.

V) IT-wifesarged
Gerfer ¥ e sreama F ar-ary arfes i Sifgs s 6t ot srasawar QT 15T T & g9
HEAYU AT § & T F-RITET qTg97 g1 T8 Agaqy & b senidae o feaa Stea & e sra ==
TV T STl & A H Toh A1 THT TI9 Agaqul w1 gl T Foara et it g § 7Ig F:X
LET KA

S AT I AT BT AT FLQ g AT T TF 1387 9 ST gl M A-Aifes qrged #, w9y a6
AT IAAT FT TAT FLA & SN SAF o1 Gg T g 1307 39 v § srarh & 7ga g FTLaFd 8
T 3T w1 o Aol sad et deamcas 19 T Sraeqhar Ta) gidt 19T &, I & F%q
AT AT F HTS G AT T@A T SALTHAT Tal 2

Bl E EARER G|
T THL & AT-HITET TIGT T |, ATTHT Tg (ki S T GHAAT ST FI it eIl
gt g i o St A i v <4 sl IR AT FTAT 2T & < T SUHIA T IqT AT grav
11 o7 AU I ST g Y ot I8 RaiRa F3 i srasgswar g & 7o # sine v @ &t
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AT F FRa=T 7 €1 TF 91X AT AT AT it ATAT AT FC AT 8, AT YR 57T A T H TH
Y IR § AU 1T ATFET § & T T T FI FY SArqeTHhaT It ¢, S Tl SAhsT g

Example 1: Which suitable figure will replace the question mark based on the figures given in
guestion?

TF § ST IS ATFAAT 3 ST I HI-HT ITLH ATH A T AT =g H Ffaedriag wair?

el =t 2 (G|

In this question, we need to find the similarity between the first two figures) Looking at these two
figures you can see that figure B is rotated 180 to the right of the figure A) The same logic applies to
the other two figures) From the options, you can see that when you rotate figure C by 180° you will
get the figure given in option 2) Thus the correct answer is option 2)

TH W |, TH T8 QT ARSI 6 19 THTAT @IS T TET 1T &l AR T <@ FL AT 3@ Tl
& % sl B, sMEfA A F TS 3T 180° AR TS 3ITRY Tah 17 T gt q< oft AR v Bifasweat
T T 3@ TR & B T T sy ¢ Y 180° FHTA € A swuahy FAsew 2 & T sy v et
BITH TR ot S AweT 2 8

Example:2)From the given figures find the suitable figure that can replace the question mark)

2 TS AFAAT H & 9 STIH ATFIA ATT HIOMT ST AT Foreg 1 i €T F T

TIA[ ™ 2] || |

Figure A and B are vertically inverted to each other) In simple terms when you see the figure A in
the mirror invertedly you will see a figure similar to the one given in B) Applying the same logic, the
figure in option (1) will be vertically inverted to the figure C) Thus a correct answer is an option (1).

Example 3: Establish the similar relationship between C and D as the one given in figure A and B)

= A 3l B U T & &9 9d I | AT 51 # ST ST U7 H ATHIA A Tl ST <@ g af Il B
T & TS A F qHT T i fe@ts M IHY a9 Y AR w9, Bhew (1) F & wE smpfy
AMHA C I A 9q € § I T TH THTL TH Gt AL b faheq g (1)1

TG 3: C 3T D & 1= 3 g1 daey e1TUq &, 4T fab srpfa A i B # fear 4w 8

AP =

A B C

v

CN [ [ [ || ==




Here either side of figure A is not shaded, whereas the left side of figure B is shaded black)
Similarly, figure C is not at all shaded and the upper portion of figure D will be shaded) Thus the
correct answer here is a figure (5))

et At A ¥ ST S A A9 3, 9 O AFERr 8 3 aTE w7 ¥ grrhe 3w A,
st ¢ faeger ff Sraifaa 781 § ) i D 1 ST AT FrHifha SR oI AT Tol U TH
AH (5) &)

Practice Questions/J¥TaATY

Q-1) Which suitable figure will complete the question mark in the below figure.

FI | SYYH SMHA = < T Arpfar & 07 qrere =Beg & Ry w3
RRIB 7| |BRRBD
A)1
B) 2

Q)3
D) 4

Q-2) Based on the figure in the question find a suitable figure from the five figures in the option)

T H & T AT F Areme o= e | o= ot ® & U SUIRe s 1 ¥ S
e 2] [eTeTom[RSso

A) 1
B) 2
)3
D) 4

Q-3) Select a suitable figure that will replace the question mark of the figure given in the question)

T STLH ATHQ HT =FAT R ST 0T F & T g & w7 FRrea w7 9fq wnfea soft

A\
© "ol gl ? S < al€a® ¢

A) 1
B) 2
Q)3
D) 4
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Q-4) Instructions — In the questions, a problem is given on the left side) One part of this shape is
missing) Look at the 1, 2, 3 and 4 answers on the right) Find the shape that fits in the missing part
of the problem without changing its direction in such a way that the pattern of the problem shape
is completely formed) goes ) Choose the correctanswer)

Q-4) FA3er — T & 912 AT T THET S TS 2| TH SHQ FT TH 907 TS 51 1, 2, 3 3 4 I]74 FY
TTE AT IE| T ATFHIA 1T I ST THET & FH T F IADT Q9T T2t f997 397 7o e Y St
& B queaT s &7 fed T g F T ST g1 g4 dat S}l

ne C P M

A) B) ) D)
Q-5) Instructions — The questions have three problem-shapes on the top side and a blank space has
been kept for the fourth) Problem — Shapes are in a series) Find which of the answer figures given
below meets this series) Choose the correct answer )

Q-5) e — 7o § fi gwegTd §- U< i A7 ST 9y % forw e s s @ @ g 9w -
Frpfaat T Fawr § g {ra fiforg @& A= 1€ F-f 9 srpfaat @ swear @ fedt )/

S AN
ek :
A a0 aoa || O | 0ﬂ3| Ao*(; 0A0A oa-u,

- A { J A
A)

Q-6)Instructions — The questions have three problem—shapes on the top side and a blank space has
been kept for the fourth) Problem — Shapes are in a series) Find which of the answer figures given
below meets this series) Choose the correct answer )

Q-6) fA<er — wat & <ft 9 i queaT-araTe § o =9 F forg uw Rew e T wn g1awer -
Ffaat T gaer § g1 71 fiforg fF f= & 7 wi-dt S arpiaat 5@ saer & et g1 a1
ST A

E 2||[O]|m]||&]||m
' S B I— S ! -
A) B) Q) D)

Q-7Instructions — The questions have three problem-shapes on the top side and a blank space has
been kept for the fourth) Problem — Shapes are in a series) Find which of the answer figures given
below meets this series) Choose the correct answer

Q-7) [Ader — w1t & <ftd o= i wweT-arfa g ik = & forg ws R s |t = g1 wwer -
SHIAAT T Faar # g1 A1 Koy F = G 1€ st S srpiaat g sa«r @ ffadt ad
A AN

X)X | KB

A) B) Q) D)
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Q-8 Instructions — The questions have three problem-shapes on the top side and a blank space has
been kept for the fourth. Problem — Shapes are in a series. Find which of the answer figures given
below meets this series. Choose the correct answer.

Q-8) fAder — w3 <ftd o< i wweT-ara § ik = & forg ws R e < 3w §) |we -
FHAAT TF Faar # gl A1 Aoy F = 1€ s s sriaat a0 seer @ fad Siag

b

=%

N N %

D)
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Some more :Analogy Practice Questions

Question Bank /I %

Directions: In question number 1 to 4, Four figures A,B,C,D have been given in each questions)
Outof these four figure three figures are similar in some way and one figure is different) Select the

figure which is different)

FA3er: 79 =47 1 | 4 ° I&F TF § 90 3F A,B,C,D fw w 1 3 = st # & i srpfaat
et 71 et =0 ® | § i e srapfa et €1 S st o == fRr st fver @)

(A) (B) (C) (D)

00 AD A
% 00 N A

(A) (B) (V)] (D)

(A) (B) (C) (D)
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Directions: In question number 5 to 8 a question figure is given on the left side and four answer
figures marked A,B,C,D are given on the right side) select the answer figure which is exactly the

same as question figure)

FA3er: wor 99T 5 & 8 H 9T AT TH T AHIA & TS ¢ X T AT 77X S MHAAT A,B,C,D st
£ ST ATHIQ T 77T HL ST faregpetr o7 i & g9 g

Question Figure Answer Figures

4

P‘I

(A) (B) D)

F—<
=<

(A) (B) (C) (D)

(A) (B)

(4)

(D)
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Directions: In number 9 to 12 there is a question figure on the left side a part of which is missing)
Observed the answer figure A,B,C,D on the right side and find out the answer figure which, without
changing the direction fit in the missing part of the question figure in order to complete the pattern
in the question figure)

A3er: §=aT 9 & 12 # TS SR T ¥ AF A § o &7 T 97 13 81 S e w, A, +f, S
TS ST IG@T S ST ATHIA T 9T ATY, ST 90T i Tt f3 wor spfar & et it v & g
T SFTA & ATqar ffed # fhe S=ar gl

Question Figure Answer Figures
\ =1 7 J.
9. - g\\s 1 f//bf/ s
2
(A) (B) (© (D)
10.
(A) (B) (©) (D)
N (&
1. /.
0 % 0 I\ N\ 4
v
N
12. £
fa
(A) (B) (C) (D) \
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Directions: In question number 13 to 16 there are three question figure on the left side and the
space for the forth figure is left blank) The question figure are in a series) find out one figure from
among the answer figure given on the right side which occupies the blank space for the fourth
figure on the left side and complete the series)

R3er: TrE=AT 13 § 16 H aff A f19 o7 srpfar € i< s 7t swapfar 3 forg = @eht = R
AT 1T ST T @1 1 TS ST & TS ST ATH A § & Toh AT 7 I4qT AT S qTE AT
reft sl 3 fory R T Bt § i e o mr et ]|

Answer Figures

x

Question Figures

. %

(A) (B) (C) (D)

S 2, O ) %o f) % 0o

14 20 25 ? 9 @ SR | | [0 kes| | |2 %
(A) (B) (C) (D)

o [T o | | [
(A) (B) (C) (D)
OO0 O O O|® O|[0 JOl[o o
16 ? QID O O O
® OO0 Oowm O O OO o/l® oOllo ®
(A (B) (C) (D)
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Directions: In Question number 17 to 20 there are two seats of two question figure is the second
set has an interrogation marks (?) ) There exist a real relationship between the first two question
figure similar relationship should exist between the third and the fourth question figure select one
of the answer figures which replace the marks of interrogation)

IGEGE

TIEET 17 T 20

RN R EIEIREC IR REEINIEE L E L RIS R REE R 1|

SRS IEIRR G RN E IR PEE RS IS CRIEEIRKIEET P INE IR R E R

*[BIERAIL ]| AT [A][A] (A
* BHEHEH ]| ¥ [¥] [ [
3O BIEV K gﬁx ‘@ @ &
~ HEFT ]| (7] [B] (%) (&

Question Figures

Answer Figures

FrfetarorE Ry, g

(A)

(B)

(€)

(D)
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Directions: in question number 21 to 24 one part of geometrical figure (triangle square circle)is on
the left side as question figure and the other one is among the four answer figure A,B,C,D on the
right side) find the figure on the right side that complete the geometrical figure)

TR o7 ST 21 F 24 F SATAATT S (BrefstastawT) 7 UE 907 7 Sahfa F T 7 918 A g 8
TAT AT AT 3T AT I AFHA A,B,C,D H & T GI=TS AT T AFI il @ISt ST SATTAS 1T A v
T FHT |

Question Figure Answer Figures
-« [N | | Y] |9] |9 | d
(A) (B) (C) (D)
- 2 | 1L 4] (4 A
(a) (B) (©) (D
: (A) (B) (C) (D)
(A) (B) (©) (D)
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Directions: question number 25 to 28 there is a question figure on the left side and 4 answer figure
marked A,B,C,D are given on the right side select the answer figure which is exactly the mirror

image of the question figure when the mirror is held at xy indicate your answer)

FA3er: or "=aT 25 | 28 H AT ST T T SFIA § T IS AT 4 SALT AFA A,B,C,D sifaha §, 59
AL ATHIA T AT HE ST T AF QA T foeper gdor yfafawer § 5o qdor & x y R @T T ar g |

Question Figure

26, CROP | [

—
ATTITIII ST

e

-

o

Answer Figures

s [e] |E| &
(A B TS {1
PORC JOAD qsico 2049
(A {13 'y 1Dy

(Al R [ (D

':!‘.} lBJ “:] [D]
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Directions: In question number 29 to 32, a piece of paper is folded and punched as shown in the
guestion figure on the left side and four answer figure marked A,B,C,D are given on the right side
selected the answer figure which indicate how the paper will appear when opened (unfolded))

R w1 9T 29 & 32 W FIST Y WisT i o fra srar & S & ard e wy swefa 7 femmar
TAT g 3% TTE AT AR I SAHAAT A,B,C,D Sifha &, ST i 1 =3+ T & sy aerfar g &
Y FES G 7 9 fa@rs J[m)

Answer Figures

Question Figures
IE =1l | [1=!
— =1
(A iB) (i
InwiliiES ?
w. | 1 . el el ol
f ! 1 ErdE
LIS %%39&? u‘?ai‘ &?ai’
(A) (B) () (D

o ||| B O mr‘u O®

(A) (B) (C) (D)
[ 4 ’ ‘ I 7w JHA "r:..—"‘.\\
32. N \E 3 3
l I RN i
(A) (B) . (C) (D)
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Directions: In Question number 33 to 36, a question figure is given on the left side and 4 answer
figure marked A,B,C,D are given on the right side) select the answer figure which can be formed

from the cut out pieces given in the question figure)

FA3er: w7 §EAT 33 F 36 H, AT AT TH TF AHA & T 3R TS AT 4 I AFA A,B,C,D sifFa g
I I ATFHA FT FAT FL ST 0T AFH(A A R AT FE Y IFHST & TATE ST THAT 55

Questlon Figure Answer Figurces

N ] V] [
T _|1?_| B iC T}

. EREREIRE

(Al (B i (m

« 0! | [& \s

[A) (B iCl (D

(A (B) ey o
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Directions: In Question number 37 to 40, a question figure is given on the left side and 4 answer
figures mark the A,B,C,D are given on the right side) select the answer figure in which the question
figure is hidden /embedded)

FA3er: w1 §=qT 37 | 40 H, FTL A TH TF A & T2 g 3T L AR 4 I Faat A,B,C,D sifFa
SIS I A 7 779 X o & o arpfy fRpdiy/sim R &1

aT.

Qucslion Flgure

Anawer Figures

2] [Z]

o

A

A 1B} il ‘D
) [
w | 7\ /N
I i 1€ 1
" /
‘ ) DKL K [ X
(&) (431 (M| {0
e I 7 \ L ¥ & @
A 1B) iCl D
Answer Key:
Q |A. |Q |A.|Q A |]Q A |Q |A. Q. |A. |Q |A. Q. A |Q |A | Q. | A
1|B 2| D 3B 41 C 51A 61A 71D 8B 91A |10 A
11D |12|(B |13 |B |14 B |15|A |16|B |17 |B |18 | A |19|/B |20 |D
21|C |22 |B |23 |B [24|C |25|B |26|B |27 |A |28|C |29 |A |30 |A
31|C |32|C |33|B (34|D |35|B |36|C [37|B |3383|D |39|C [40 | A
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PART-6
GEOMETRICAL FIGURE COMPLETION

Directions:-- In the following questions, one part of a geometrical figure (square, circle,triangle) is
given on the left hand side that is question figure and the other one is among the four answer
figures marked as (1), (2), (3) and (4) on the right hand side. Find the figure on the right hand side
that completes the geometrical figure. Encircle the number given below the answer figures.

Part-I
Question Fig. Answer Fig.
1. | T
Fan {5, || P ; 4 |
|;‘“;,.' | |  Ca Y -l Il _"...l I A4
i1l = s - '_l-
2 = = ; ‘— —
I;:|1.-.| I
_,-— . '—_l_— : | | !!
l:_| 3} l;
3 i — e -I-- e | P l ——
= - 1 Bl — L - I_":- i
il = il al
4. I = i E——
1 -_'_J . 1 |
e | 1 _J | S | -
[ - 11 - -"_'-' -l-_'li- _: -

5. | = Iil. |
fL _ T o Sl

\ | | "IELJ_'--‘
5 = l 3 _—
(15 (2] g ] (e

6 g i -

N A ‘ {'"_ Y TNy I AT l I." \ ‘
e O e kL
TEETT (3 &)

7 o = m— = | = ¥ —— = —u
1| L | | Il C Nl
N | P £ 1 |

(1] [2} (=L 4
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8. —
] [ ]z
= (T3 (2} (3 Ay :
Al [¢[2]8]7)
(1) (2} {3
10.
o <P [Ee>
(1} (2} (3
{T) 2 lﬂlf.:":l
12 f\\ S g \ I[;_:-i g/u’““x
(i (2] (3p
13.
= .
¢ [aln]g
(4] (<] &
S =]
II:M‘ |U_—L|| "_'I L]
(1 (2) [3)
15. |?| I_T: ‘ j ‘_____ |",_
EEE )R
=, _ﬁ]_'ll (2] (3}
16. K <_ %_ {
1) &) : (3) .
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i Al I“*j

Q‘\ o
2| |<]|<] ::J\fﬂ|

£ <)

&[ 'ﬂ_\ﬂ|r 1 1_.”' —’i

31'1%:\1 ﬂﬂ

32'mewm

jl== ?iﬂ?%ﬂ

35, '
ST
e I (g ] £31 (-5

1 e
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37. |-
L B Tl
Y P2 i3) L
38.
| O[] =
1) (2] (-3 {4)
39, p—— i
2 | 2SS
Iz 2) @) ()
40. | | ' i
RERIETEIENEY
(1) (2) s R Sy o
41. & =1
S I T S P | ]
1) (2) (3) (4]
42. — |
2] |||
Ty (2] 03 Ll
43, ‘ilj -.;? C?-. 'C_:-? i .::3 '
44, — [ ':"? - =
BNEEEE
L J L EE Er et
45, s -
(7 ]O ||| B
BFE e e
46, ]
D o][D|[E
(1) {21 (3 L)
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47.

(=

(S

>)

{2

(3)

48.

@[(][.&.

L {2} {3 44
49, -
€ [<D[ G
- (1) 2y 1 (4}
|| || ‘«itlw‘f_*:f
(R (2 £33
& JIDTEIDIE
(1) 2y 43 ()
52. = == - = o
) || G e (R €
(1 12) {3) (4)
53. | ¢ : -
[AS lc: o bl,é
(" (21 (3) 4
54. 4 :
iy (2 ¢33y (4
55.
bS] S B [
ch (21 (3 4
56. |
=2 M T =l N ) v T
| il - =% R 4
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57.
!
Il B Ee ] Bl e
(1 (2) {3) )
58.
.|| B B
(1 i2) [ED Y
59. ;
[~ < Fa e A% J
{12 (2 Y 14
60. =
A, (2} (3} 4]
61l. T = — —
N N
s (1) (2) (37 iy
62.
LT 2] £h | | £
(1) - (<) | {3) (4}
63. .
e O Bl Tl e S
(1) (2] 3] (4}
64.
S (2) (3) 43
65.
[~
(1 e =
66.
7\_|7 g;’ <5 '*’ls:’i/
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67. Lr : ' -
ESMIEE] B B0
l:‘l:' I:E:l gi'ﬂ] ._j:q:l
68. | pms
|L:|— —/—| i «r”’r ,_J_'I_.-J"'| JLJ_I/’]
i EL‘“H "“u ! St
(1hk ] (30 [f )
69.
= | o Rl S |
=4 {3) (4
70. ,_,JI
R I__| = __Iv_l_ |—|
il |,+ (=}
71.
EREAE RN
S LT {2) (3} i)
2] | | ajaja |
E—— ]
fia
73. .
L O <?J Al
140
74.
1)
75. :
o R = |‘ﬂ
7T T I T
76.
L2 | "] & | =]
(1 (2 ) (4)
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77.
[ £ ey E ] =] s
(1) 2} (33 (4
78. h
T i i Y el g
Ay (2} (3 (4}
79.
=1 0 e e il I
(1) (2) {(3) (%)
80. —
£ {l ﬂ é -
(4)
= FIE S Eﬁ < Y
= >
(1) {2) (i
82. :
/—I"l.f" I//\'/“'L.Jl b\ HAL/\“'._ "”ﬂ"w’ﬁ'nu
1y 21 (3% I:-il'll_'
83,
(1) (2] (3} (]
84, — — =
5 SN BET N S EiE)
(1) {2 (= (4]
85. e : B '
5| =0 ||
(1h (2] [3) (b
86. - __ﬁ |
E | r & -] = |
- T (2 14)
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97. L —
=1
.»—I
L_‘ % (2) g
908, | | _ﬁ
.*l n’£/] ﬂ \_l:] %
i1
99. LS |—|_ — Z
2 %] E ¢
{1} (<] {3) (4]
100. r_ ‘
_.“’J_I i_l LJ £| -::J:
{13 2] {3} (=)
101.
% &) Fl 3 E]
I!‘I' (3 (4}
102. P |_/_IL '_ﬁ_J_J Lw__ _?,_v,_|
Rt ) (23 (33
103. | M
PRl T il ﬂ
) (1) (2 (3) (4)
104. ‘E_| II_..-" ‘,_.-" Il,_a‘
i | [ .
(1) (2] (3) ja)
105. & -"?__?\J = I:I\QJ \EZ—I
(1} (2) (3 {4)
106. | - : L (
H i 11 ] |'IIIr 4
TV - I 1 ST
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107.
._!_ I I___\J _'\-\._-
¢ > J
— (14 (2 (3 {4}
108. 1 I_ e I _ .-_a- .-II II'
= j N b=t = L
(1) (21 (3]
109. 3 ] 5 'l 1 |
7 [ |
f L I 1. ¥l L
(1) {2) )
110. | — I_ - i -:\.:J
I- I -:\:- 'l '\- l_\.
I: I_." L e | L=
(1) (2) b3 4}
111. | | [ |
P o | —l I e
Lk | | l L L 1 —"
(1) (2] [3) i}
PART-6 ANSWER KEY PART-I
Q. | A Q |A.| Q. |A Q. |A.| Q. |A.| Q. |A.| Q. |A.| Q. Q. Q.
1 1 2 2 3 1 4 3 5 3 6 3 7 2 8 9 10
11 | 3] 12 | 2| 13 |4 | 14 | 3| 15 | 1] 16 | 1] 17 | 1] 18 19 20
21 (2| 22 | 2|23 | 2|24 | 1|25 | 1|26 |21 27 |1]| 28 29 30
31 4 32 2 33 1 34 | 4 35 1 36 3 37 1 38 39 40
41 | 2| 42 | 3| 43 | 2| 44 | 3|45 | 1| 46 | 4| 47 | 2| 48 49 50
51 2 52 3 53 2 54 1 55 1 56 3 57 3 58 59 60
61 1 62 3 63 4 64 1 65 1 66 1 67 4 68 69 70
71 2 72 1 73 1 74 1 75 2 76 | 4 77 4 78 79 80
81 3 82 1 83 1 84 1 85 3 86 3 87 4 88 89 90
91 4 92 1 93 1 94 1 95 3 96 1 97 4 98 99 100
101 |1 |102 |1 (103 |4 |104 |1 |105| 4 |106 | 3 |107 | 2 | 108 109 110
111 | 3
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Part-ll

Directions:-- In the following questions, one part of a geometrical figure (square, circle,
triangle) is given on the left hand side that is question figure and the other one is among the
four answer figures marked as (A), (B), (C) and (D) on the right hand side. Find the figure on the
right hand side that completes the geometrical figure. Encircle the number given below the

answer figures.
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(A)

(B!

{ Lk}

(Hi

t )

(15

87

88.

89.

90.

91.

92.

93.

94.

PART-6 ANSWER KEY PART-II

A

10
20
30
40

50

19
29
39
49

A
A

18
28
38
48

17
27
37

47

16
26
36
46

15
25
35
45

14
24
34
44

13
23
33

43

12
22
32

42

11
21

31

41
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A

60
70
80
90

59
69
79
89

A

58
68
78
88

57
67

77

87

A

56
66
76
86

55

65

75

85

54
64
74
84
94

53

63

73

83

93

52
62

72

82

92

51

61

71

81

91
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PART-7
MIRROR-IMAGE

1. If the mirror is placed on the line MN, then identify the correct mirror image of
the given question figure from the answer figures.

Question fig:
Pl
14587 E

A 14587 B. 14587 C 14857 D. 14857

2. If the mirror is placed on the line MN then identify the correct mirror image of
the given question figure from the answer figures.

Question fig:
Pl
11223312332211 E
11223312332211
A
B 11223312332211
C 11223312332211
11223321332211
D

3. Select the mirror image of the following figures:
ANSWER IMAGE

ORIGINAL IMAGE A B

o] g oy o8
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4. Select the mirror image of the following figures:

QUESTION IMAGE

A

ANSWER IMAGE

A

Z CTT <

A

A 4

) A

5 Select the mirror image of the following figures:

QUESTION IMAGE

A

ANSWER IMAGE

ABCXYZPQR

Z (T <

ABCXYZPQR

ABCYXZPQR

ABCXYZPQR

ABCXYZQPR

6Select the mirror image of the following figures:

QUESTION IMAGE

A

ANSWER IMAGE

A

Z ST <

A

4

A

7 Select the mirror image of the following figures:

QUESTION IMAGE

ANSWER IMAGE

B

ol = §
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8 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

ENGLISH HSILGNE ENGLISH HSILGNE

Z CTT <

HSILGNE

9 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

D & /|||

Z (T <

10 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

G ) G

Z ST <

11 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

oX @ Xo Xo

Z (T <
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12 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

W D@

Z CTT <

13 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

Oe O o O

Z (T <

14 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

Z ST <

15 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

EXAM EXAM MAXE MAXE

EXAM

Z CTRRTRTTTY <
p
b
b
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16 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

AC CA C gV

Z CTT <

17 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

A A A D

Z (T <

18 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

e ] 3 A<

Z ST <

19 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

RS EEES

Z (T <
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20 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B

|

21 Select the mirror image of the following figures:

ANSWER IMAGE
QUESTION IMAGE A B

I R

22 Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B

b

5

9

T g

98] [e%] %

23. Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B

O

19 €

o
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24. Select the mirror image of the following figures:

ANSWER IMAGE

QUESTION IMAGE A B C
M
[\ N\ AR VAR VAR
\ — A\ \vy 7
M
25. Select the mirror image of the following figures:
ANSWER IMAGE
QUESTION IMAGE A B C
M
£l C
26. Select the mirror image of the following figures:
ANSWER IMAGE
QUESTION IMAGE A B C
M
]

27. Select the mirror image of the following figures:

ANSWER IMAGE
QUESTION IMAGE A B C

M
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28. Select the mirror image of the following figures:
ANSWER IMAGE
QUESTION IMAGE A B C

x| 19| Y8

N

29. Select the mirror image of the following figures:
ANSWER IMAGE
QUESTION IMAGE A B C

PIRISHINIESED

N

30. Select the mirror image of the following figures:
ANSWER IMAGE
QUESTION IMAGE A B C

M

> e o S

31. Select the mirror image of the following figures:
ANSWER IMAGE
QUESTION IMAGE A B C

M

2+4+7+8+9+6 S+H+A+E440 2+7+4+8+9+6 O+E+E+THRL

O+2+8+h+V+E
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32. Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B

M

A,EILO,U U.O.LLE.A U Ol A

N

N'OI"E"Y

U,0,1,E,A

33. Select the mirror image of the following figures:

ANSWER IMAGE

QUESTION IMAGE A B

M

R s@|o®|| @ ||s@

N

34. Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B

M

N N N > &

> > <

N

35. Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B

M
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36. Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

M

11111111111

11111111111 1111111111 111111111

N

LIFITEITILS

37. Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

w3 a8 s
=& PR ==

N

38. Select the mirror image of the following figures:

ANSWER IMAGE

QUESTION IMAGE A B o
M
A | ! ! ! [ A
1+2=3 E=S+1 1+2=3
1+3=3 €=¢+l
N ] { ] i x l ] i

39. Select the mirror image of the following figures:
ANSWER IMAGE

QUESTION IMAGE A B C

M
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40. Select the mirror image of the following figures:

QUESTION IMAGE

ANSWER IMAGE

A

M

>

N

O

(

(O

41. Select the mirror image of the following figures:

QUESTION IMAGE

ANSWER IMAGE

A

M

6

N

©

&

42. Select the mirror image of the following figures:

QUESTION IMAGE

ANSWER IMAGE

A

742\

o\

N

O

4o\

oV

43. Select the mirror image of the following figures:

QUESTION IMAGE

ANSWER IMAGE

A

M

)

He«id

)
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44, Select the mirror image of the following figures:

QUESTION IMAGE

A

ANSWER IMAGE

M

N

45. Select the mirror image of the following figures:

QUESTION IMAGE

A

ANSWER IMAGE

M

&

N

&)

&)

®

)
S,

46. Select the mirror image of the following figures:

QUESTION IMAGE

A

ANSWER IMAGE

M

47. Select the mirror image of the following figures:

QUESTION IMAGE

A

ANSWER IMAGE
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48. Select the mirror image of the following figures:
ANSWER IMAGE
QUESTION IMAGE A B C D

g
@;5,‘2

49. Select the mirror image of the following figures:

ANSWER IMAGE
QUESTION IMAGE A B C D

50. If the mirror is placed on the line MN then identify the correct mirror image of the
given question figure from the answer figures.

Question fig:

MATHEMATICS
A 7rrrrrrrTTTTiT B

MATHEMATICS
A
B SATHEMATICM
C MATHEMATICS
MATHEMATICS
D
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ANSWER KEY:

B

10

30

B

19| A |20 |B

29| B

18| C

38|A |39]|A |40 |C

17| D

27| D |28 | A

B

16 | A
26

15| D

25| C

35|D |36 |D |37 |8B

B

14

24| C

34| B

B

13

33|A

12 | A

32| B

A

Q. |A.|Q. |A|Q A Q. A Q. A Q. |A|jQ A jQ |A|Q |A|Q | A

11| C

21 |A |22 | A |23 |C

31| C

41| A |42 |D |43 |B |44 |C |45|A |46 |B |47 |B |48|C |49 |D |50 |C
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PART-8

PUNCHED HOLEPATTERN-FOLDING/UNFOLDING
Each of the following questions consists of a set of three figures, X, Y, and Z(or ABCDor 12 3 4)
showing a sequence of folding of a piece of paper. Figure (Z) shows the way the holes have been
punched in the folded paper. These three figures are followed by four answer figures from which
you must choose a figure which would most closely resemble the unfolded form of a figure (2).

UD 00
8 8 UD 00 8 8 ﬂa GD
(1) () 3) (4)

(1) (2) (3) (4)
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X
O . 0 SN ©
- S =]
B s 5
(1) (2) (3) (4)
5.
®| @fi 9
X Y rd
cE E% e
\o| / o \O[C/ \o|o/
(1) (2) (3) (4)
6.
RIS
X Y R
T 522 el e
(1) (2) (3) (4)
7.
T. ——

x ------------
paag Saa i E 2 3843
A 2 A A
WV 2y
(1) (3) (4)

8.

DO,
o0 T %X‘\ X

(1) (2) (4)
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10.
: et aeeeeaaaanes
1 =
: o
X Y z
o O o0 o o0 o o
00 o0 © 00 oo ©
o o o0 O o 00 O
(1) (2) (3) (4)

o_o o o T J
(1) (2) (3) (4)

12. Choose a figure which would most closely resemble the unfolded form of Figure (Z).

TR
&P D D

(1) (2) (3) (4)

13. Choose a figure which would most closely resemble the unfolded form of Figure (2).
T H -._I|IL II‘." o ‘..=
(D@ e
X Y z
(=] 0.0 =] [=]
ERRERRTERER:
(4)

(1) (2) (3)
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14. Choose a figure which would most closely resemble the unfolded form of Figure (2).

ORCIRG)
D OO

(1) (2) (3) (4)

15. Choose a figure which would most closely resemble the unfolded form of Figure (C).

17
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18

m ) 000 8 8 g I% <§)DO
w W @ 000 040 o O oXe)
(1) (2) (3) (4)
13 e . :
o= L R IEIES
(1) (2) (3) (4)
20 sy B p——
! 2 0 o] 0 o] o 8 00
1 : oL
—— = IB : T | e | ||2T®
i_ _______ i L i L i Oo O 5 Oo 00 L7, OO 00
(1) (2) (3) (4)
21 [0 [0 [ -
T T =
¥ |—+ | [Xg | OL10 GEO XX
(1) (2) (3) (4)
22
O ¢ 0 O 0 e o o
0 0
XEEE N S
(1) @) (3) (4)
23
ﬁ {l I:||:|I:I <><> <><> I:IDI:I I:IE gI:l
P [ ‘ o | S e -
1 @) ) @
24
— : E : : : oo Q =] o
(1 (2) (3) (4)

25 Choose a figure which would most closely resemble the unfolded form of Figure (Z).
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= T e =gy

] : : : :
] : w | P
: i | :

L i Laa -

X Y z
7 522 5 B
(1) (2) (3) (4)

26.Choose a figure which would most closely resemble the unfolded form of Figure (Z).

T ] i
~oA !
XK AN -4
X Y Z
Yo 9 ~o .9 e 9 Vo 9
] c DDD A qu q OG o
B [= I DDO [ ﬁoﬂl N Cl‘d
(1) (2) (3) (4)

27.Choose a figure which would most closely resemble the unfolded form of Figure (Z).
X Y Z"
v £ Y 4 L
7 4 7 % 7 %

(1) (2) (3) (4)

28. A square sheet of paper has been folded twice and punched and then unfolded. The pattern
of holes on the sheet of paper has been shown as in the question figure. Find out the punched
hole pattern when the question figure is folded twice.

TS ol U AT 9ffe T &7 FTL HIST TAT 3 TFHT T 47 S T At T Frst af offe
U E % U Al T A B Q@ T 81T sl i ar 9 /g 9 97 i R T v uar

0|

Question Figure : Answer Figures :
LY -
.....?..;:..... eee .. (X 1] ™ ..
i %

(1) (2) 3) (4)

29. A paper is folded and cut as shown in the given question. When opened, how will it appear?
Select from the given response

Th BTN B AIST 3R HTeT odT § ol 1P fou e vy # ez mar g 1aies R, 98 &9
faamg amm? fAu U SR AT |
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Sl N EIRIERE

) (2) 3) (4)

30. A square paper is folded in a particular manner and a punch is made. When unfolded the
paper appears as given below in the question figure. Find out the manner in which the paper is
folded and punch is made from the given answer figures

U FATRTL HTST h[ UF GTE qleh ° TIET SATAT & AT T HFHT TATAT ST g 1S FIETST AT gl
g T e § = fo=m o Gt aar 1few v sk st & qar . & 99w & v e
SToRTY HIST SITAT g ¥ U= a«1AT STt gl

O o

O O

'®) O e—1 — = | ol
®) O M) ) (3) (4)

31. A flat square of paper is folded one or more times. The broken lines indicate the original
position of the paper. The solid lines indicate the position of the folded paper. The paper is
never turned or twisted. The folded paper always remains within the edges of the original
square. There may be from one to three folds in each item. After the last fold, a hole is punched
in the paper. Your task is to mentally unfold the paper and determine the position of the holes
on the original square. Choose the pattern of black circles that indicates the position of the
holes on the original square. There is only one correct pattern for each item.

BT & Uh JHA aFf Bl T T 3 IR ST ST § 1Tt 88 SWTE SIS Bt Jo Fufd &
gt 8131 XATE 43 gU HFTS & fUfd o1 <2iich § 1ms w2t gadr a1 gad1 781 8 19T

3T HTTST AR G aF & BRI b HoR 8l & (TS 3MSeH H U ¥ dF A1 81 el
%I&rﬁ@ﬂuﬂl & TG, BT H U &6 (Sfad fBa1 ST § |31 BT HITS! &1 HHRS U
T WA 3R g 37 R Fal Bt T Feid H1 8 191el BR &1 Ued g+ off Jd ol IR gl
ot U BT ST HRAT 1 IUAD 3MSeH & ol ool U Hel UeH g
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@000 (OOCee
OCO@O0| |[Oee®O
OCOe0| |[OeeO

,/0000| [OCe®

32 If a square paper is folded as shown in the question figures and then folded paper is
punched, what will be the pattern on opening the paper?

e Uy P A TMW IR TH TN HR BTN &I ST ol § 3R R g g¢
BT D! U fHaT STaT 8, ol HHTS 1 Wil 3 TR Ye T g,

Question Figures :
|: [y ] 8

Answer Figures :

IERRIIIE= s
Saono oo oo oo oo ©
e oo c®o =) o° o ©
) 2) 3) )

33 A piece of paper is folded and punched as shown below in the question figures. From
the given answer figures, indicate how it will appear when opened

BT & U Ths DI A1 Y P H MY SR HIST 3R JaewT ART 141 5 I} T
IR SMHIAT § Yobd HITOTE b Wiet o1 R I8 Ht fawars

Question Figure
R- St ~v 1IN
S B e

Answer Figures

& D e o
o o o &£ o o o
M (2) (3) (4)

34 A square sheet of paper has been folded and punched as shown by the question figures.
Which one of the answer figures shows the appearance of the paper when opened?

Ty Mpdl gRT ST SR SIS &1 b IHR e o WSt 3R JabT ART 11
8| DIF-T IR MBI Wiel oI TR BT o1 =0 feandt g2
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Question Figures :

ﬁﬁﬁﬁ nidil | RS

Answer Figures :

<

< < S <O

0009

o
)

(1) 3) (4)
35 If a square paper is folded as shown in the question figures and then folded paper is

punched, what will be the pattern on opening the paper?

afe gy SMpfa H RN SIAR U I HR BT ST HIST SdT & 3R R IS §T
BT D! U fHaT STaT 8, ol PHTS 1 Wil 3 TR Ye T g

1% fold 2nd £51d Making a hole
o000 ®00® ® 000 ®00® ® 000
o000 o000 o000 o000 OoO00O0
o000 | M« ] o000 o000 O0O0O0
& 008 o000 o000 & 008 & 000
(1) (2) (3) (4) (5)

36 The sequence of folding a paper and the manner in which the folded paper has been cut
is shown in the following figures. How would this paper look when unfolded?

TP HHTS I AIS - BT A 3R TS §U BT ! e BT asie! afarad siepfaal §
T T § | 3FhITS B1F IR I8 UUR ol fgam?

. ] '
' '
| !
-—{.—‘.---_— e
i (o

A

w X

o b
N

(1) (2)

(3) (4)

37. A sheet has been folded in the manner as shown in X,Y and Z respectively and punched. You
have to choose from the alternatives how it will look when unfolded.

TP e B HA: X, v 3R z H ST SR AIST T § 3R TaehT ART 741 § 139! fadeat o
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38. A square sheet of paper has been folded and punched as shown below. How will it appear

when opened?

HITS Pt T TNMHR e B A1d (WY AR HIST 3R Tah! ART T/ § 1@ TR
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39. A square sheet of paper has been folded and punched as shown below. How will it appear

when opened?

BT Bt Th FNHR e B e AT AR WISt 3R TadhT HRT 17T § 1@ IR
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40.A hexagonal sheet of paper has been folded and punched as shown below. How will it
appear when opened?

3 STRUISISR IS S dfanTaTe R uRag

feamme

O[O [
) [ [ [

(1) (2) (3) (4)

41.A square sheet of paper has been folded and punched as shown below. How will it appear
when opened?

. BTN B T qPBR e I 1 G/ SHER HIST 3R JahT ART 711 § [[a- W)
g ol fea
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42 A circular sheet of paper has been folded and punched as shown below. How will it appear
when opened?

o1 o = feRamar T 8, 1S o1 U e R 2fie ol Ars &= ud fhar a1 g 1dieq
TR I8 By i

Ol @) [
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43.A square sheet of paper has been folded and punched as shown below. How will it appear

when opened?

HITS Pt Th TNMHR Ye B A GETT SR [AeT 3R JabT ART 74T ¢ [ IR I8
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o O o O > <]
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o o o o
o O L=l o o O - <
O A A O NO A_O A A o O
(1) (2) (3) (a)

44 A triangular sheet of paper has been folded and punched as shown below. How will it appear

when opened?

BT B T AD I =fie B e feame SrIaR AreT 3R fesfad fasar man g 1Idies iR

(1) (2) (3) (4)

45.A circular sheet of paper has been folded and punched as shown below. How will it appear

when opened?

o1 f =i faamar T g, BT ) U MR 2ie &1 Als &1 U fhar T § 19d 3 R I8
& femme

SISICIC
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46.A square sheet of paper has been folded and punched as shown below. How will it appear
when opened?

S i fawmar a1 8, S @) T AeR i ol Aige: Ud far w1 g 1kedd IR U8
o feamm?
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47.A triangular sheet of paper has been folded and punched as shown below. How will it appear
when opened?

HITS &1 T Haiofig e o 9 fiam SR dier ok fofad foar mar g e R g8
a1 feamm?

s T +_'_
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(1) (2) (3) (4)
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PART-8 ANSWER KEY

Q.

10
20
30
40

A.

19
29
39

A | Q

Q.

18
28
38

A.

Q.

17
27
37
47

A.

16
26
36
46

A | Q

15
25
35
45

A | Q

14
24
34
44

A | Q

13
23

33

43

A | Q

Q.

12
22
32
42

A.

11

21

31

41
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PART-9
SPACE VISUALISATION

Space Visualization
Directions: The Problem figure given on the left hand four answer figures (A),(B),(C) and (D) are
given on the right hand side. Select the answer figure which can be formed from the cut out pieces
given in the problem figure and indicate your answer by number of answer figure chosen by you in
the box against the number corresponding to the question in the answer sheet.

Problems Figure Answer Figures
AN
e = | IR
(A) (B) () (D)
"S53 A
(A) (B) () (D)
[ 1]
1]
(A) (B) (€) (D)
A A i
(A) (B) (€) (D)
(A) (B) (c) (D)
il All H
(A) (B) () (D)
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19 V/A .%. 2 . VJ %E

(A) (B) (€) (D)

Direction:- There is a problem figure on the left hand side a part of which is missing. Observe the
answer figure (A),(B),(C) and (D) on the right hand side and find out the answer figure without
changing the direction fits in the missing part of the figure in order to complete the pattern in the
problem figure . Indicate your answer........

~ 1T
NS RN «@

yd /

* K@ K

P
oD

(A) (8) (€) (D)
21 /_
g
(A) (8) (€) D)
(A) (8) © | D)

23 @

B0

(A) (B) (€) (D)
==
(A) (B) (€) (D)
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(€)

(D)

26
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(A) (B) © (D)
[ [] ] []
28 -
)% [ ] 773 %‘
(A) (B) © (D)
A Aoz VoA Wik o 2
v | B0 e A e o
ol bl VAoV 7 o 77N/
(A) (8) © (D)
30| | B Z 7' 7 ) s / , 7
f“ f Z
Z Z 7 7 7

(€)

(D)
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Directions:- A problem figure is given in the left hand side and four answer figures marked
(A),(B),(C) and (D) are given on the right hand side select the answer figure which is exactly as
same as the problem figure and write your answer only in English numbers (i.e (A),(B),(C) or (D)
in the book against the number corresponding to the question in the answer sheet.

BN

fogey

X

T

NN

(A) (8) (€) (D)

I | i S e v vl
N | N KN IS I ¢
(A) (8) (€) (D)

) OA | bas o] | Oleoo] |O| A |O looo
AAAI000| | A |ooo| |aaal A | |aaalooo| laaal A
(A) (8) (€) (D)

(A)

(B)

(€)

(D)
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PART-9 ANSWER KEY
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11 A 2| A 3| D 4| B 5] C 6| B 7|1 D 8| C B|10| B
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PART-10
EMBEDDED FIGURE

Directions: One part of a geometrical figure is on the left hand side as question figure and the other one is
among the four answer figures A),B),(C),(D) on the right hand side. Find the figure on the right hand side that
completes the geometrical figure and write the number given below that in the against the number
corresponding to the question.

Question Figure Answer Figures
' > [ ]
| > Pl
| IR
(A) (B) () (D)
AT Z LR
|| &
(A) (B) () (D)
| N Z
(A) (B) (€) (D)
4
(A) (B) (€) (D)
(A) (B) () (D)
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PART-11 ANSWER KEY
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01.

02

03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

13.

SECTION-2

ARITHMETIC TEST
The product of the place values of two 2’s in 428721 is
(A) 4 (B) 40000 (C) 400000 (D) 4000000

The greatest number which on rounding off to nearest 1000 gives 5000, is
(A) 5001 (B) 5559 (C) 5999 (D) 5499

3x100000+9x10000+8x1000+0x100+4x10+0 is the same as
(A)398004 (B) 398400 (C) 309804 (D) 398040

The largest 4- digit number, using any one digit twice, from digits 5,9,2 and 6 is
(A)9652 (B)9562 (C) 9926 (D) 9965

If the number 7254*98 is divisible by 22 then digit at * is
(A)1 (B) 2 (C)6 (D)o

The product of 10101x 25 is
(A)252725 (B) 252525 (C) 25025025 (D) 272725

7x4x5x9x0x4+1x2is
(A)O (B)2 (€)1 (D) 5042

Find the difference between the greatest and least 5- digit number that can be
written using

Thedigits 6, 2,7,5,4 each only once:

(A) 51975 (B) 40865 (C) 52865 (D) 53885

A vessel has 6 liters and 400 ml of juice. In how many glass each of 50 ml capacity can

be filled:
(A) 128 (B) 127 (C) 129 (D) 130

Which of the following is not true?
(A) (7+8) +9 = 7+ (8+9) (B)(7x8)x9 = 7x(8x9)
(C) 7+8x9 = (7+8) x (7+9) (D)7x (8+9) = (7x8) + (7x9)

5454054+x = 101001. The value of x is:
(A) 53 (B) 64 (C) 44 (D) 54

The value of (700+10) — {(12x8) + (34-10)}is:
(A) 69 (B) 68 (C) 67 (D) 66

Which of the Following number is divisible by11?
(A) 1011011 (B)1111111 (C) 22222222 (D) 3333333
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

The LCM of 8, 12, 18, and 20 is 10xp. What is the value of ‘p'?
(A) 32 (B) 36 (C) 24 (D) 27

The HCF of two numbers is 38 and their LCM is 98154. If one no is 1558 then, find the other
number:
(A) 1197 (B) 2394 (C)4932 (D) 2384

Three boys step off from the same place. If each of their steps measures 42cm, 45cm, and
48cm respectively at what distance from the starting point will they step together again:
(A) 50.2m (B) 50.4m (C)50m (D)52.4m

Three similar steel bars of lengths 200cm, 300cm, and 360cm are cut into equal pieces. Find
the largest possible area of a square which can be made from any of the three pieces:
(A) 625cm? (B) 400cm? (C) 225cm? (D) 169cm?

Observe the following, m = 3x2x5% |, n= 32x23x5 p= 33x2x53,
Find the LCM of m,n,p:
(A) 9000 (B) 27000 (C) 1800 (D) none of these

Find the difference between LCM and HCF of 30,36 and 90:
(A) 366 (B) 354 (C) 186 (D) 174

(888+777+555) = (111x?):
(A) 120 (B) 280 (C)20 (D) 140

Which of the Following is co-prime numbers ?
(A) (8,12) (B) (9,10) (C)(6, 8) (D) (15, 18)

FindH.C.F. Of numbers 2/7 and% ?
(A) 62 (B) 62/119 (C)4/119 (D) 2/119

Find the LCM of 2/7, 4/3, and 5/7:
(A) 20 (B)4/3 (C) 25 (D) none of these

Three packets of sugar have masses 360g, 504g, and 672g. Find the greatest mass of sugar
that can be taken an exact number of times from the three packets:
(A) 0.10kg (B) 0.11kg (C) 0.024kg (D) 0.24kg

If A'is a whole number such that A+A = A, then A=?
(A)1 (B) 2 (€)3 (D) none of these

The largest of the fractions 2/3, 5/9, 1/2 and 7/12 is
(A) 2/3 (B) 5/9 (C)7/12 (D)1/2

Which of the following is in descending order?
(A)5/8,9/13,11/17 (B)5/8,11/17,9/13 (C)9/13,11/17,5/8 (D)11/17,9/13,5/8

216



28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

In a class 3/4th of the students do not know either English or Hindi. But 1/6th of the students
know English. How many students know both English and Hindi if students who know Hindi
are 1/8th of total students in the class?

(A) 1/24 (B) 100/24 (C) 10/12 (D) 1/4

2 x?-6=676/26 what will come in place of?
(A) 9 (B) 15/26 (C) 16 (D) 26

The place value of the digit zero in the decimal number 13.47505 is

(A) 0.1 (B) 0.01 (C) 0.00 (D) 0.001
0.009 /? = 0.01
(A) 0.0009 (B) 0.09 (C) 0.9 (D) 9

If 0.4/0.5 =0.2/P, then value of P is
(A) 3.5 (B) 0.25 (C) 4.5 (D) 2.25

617 +6.017 + 0.617 + 6.0017 =?
(A) 6.2963 (B) 62.965 (C) 629.6357 (D) None of these

Which of the following is equal to 3.14 x 10°?
(A) 314 (B) 3140 (C) 3140000 (D) None of these

How many digits will be there to the right of the decimal point in the product of 95.75 and
.02554?
(A)5 (B) 6 (€))7 (D) None of these

The fraction 101—--—in decimal for is:
100000

(A) .01027 (B) .10127 (C) 101.00027 (D) 101.000027

10+2+1/10+2/100 =
(A) 12.12 (B) 12.21 (C)11.11 (D) 21.12

Two numbers are in ratio 11:12 and their sum is 460.Find the number:
(A) 220,240 (B) 250,210 (C) 200,260 (D) 230,250

The boys and girls in a school are in the ratio 9: 5.Ifthe total strength of the schoolis
4438. Find the number of the girls.
(A) 180 (B) 200 (C) 150 (D) 160

5:x::3:6; Find the value of X
(A) 20 (B) 8 (C)10 (D) 14

The ratio of copper and zinc in an alloy is 5: 3. If the weight of copper in the alloy is 30.5 g.
Find the weight of zinc in it.
(A) 183¢g (B)19.3 g (C)20¢g (D) 40
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42.

43,

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54,

55.

Find the ratio of 36 minute to an hour?
(A) 36:30 (B) 10:5 (C)3:5 (D)5:8

Ifa:b=3:5andb: c=4:7. The ration a: b: cis
(A) 35:30:38 (B) 20:25:30 (C) 12:20:35 (D)17:20: 21

If § of A=75 % of B= 0.6 of C, then A: B: Cis
(A) 2:3:3 (B) 3:4:5 (C)4:5:6 (D)9:8:10

If two times of A is equal to three times of B and also equal to four times of C,
then A:B:Cis
(A) 2:3:4 (B)3:4:2 (C)4:6:3 (D)6: 4:3

In a school having roll strength 286, the ratio of boys and girls is 8: 5. If 22 more girls get
admitted into the school, the ratio of boys and girls becomes
(A)12:7 (B) 10:7 (C) 8:7 (D)4:3

Two numbers are in ratio 4: 5 and their LCM is 180. The smaller number is
(A)9 (B)15 (C)36 (D)45

What must be added to each terms of the ratio 7: 11, so as to make it =3: 4
(A)8 (B)7.5 (C) 6.5 (D)5

Two numbers are in the ration 7: 9. If the sum of the number 112, then larger number is
(A) 49 (B) 72 (C) 63 (D)42

Length and breadth of a field are in the ratio 5: 3. If the breadth of the field is 42 meter then
its length is
(A) 100 m (B) 80 m (C)50 (D)70 m

Find the percentage of 3%
(A) 240 % (B)340% (C)330 % (D)335%

Find the value of 20 % of 0.001
(A) 0.02 (B) 0.001 (C)0.0002 (D)o.0001

A number is increase from 125 to 150 find the percentage increases
(A) 25% (B) 10 % (C)20 % (D)12.5 %

A line segment of length 7.5 cm was wrongly measured 7.2 cm. What was the error
percentage?
(A) 4.4% (B) 2% (C) 4% (D)5 %

The ratio of tin and copper 2: 3and copper consists a 15 parts. Find the percentage of tin
(A) 45 % (B)40 % (C) 50 % (D)75 %
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56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

5 % of what number is 26?
(A)1.3 (B)2.5 (€)52.0 (D)520

A boy obtained 22% marks& the total marks are 150. How many marks, he obtained?

(A) 23 (B)21 (C) 43 (D) 33

What percentage of 1 day is 36 minutes?
(A) 2.5% (B) 25% (C) 7.5% (D) 75%

5% of 5% of Rupees 100 is
(A) Rs. 0.25 (B) Rs. 0.50 (C) Rs. 10 (D) Rs. 25

What percent is 9% of 11%?
(A) 2% (B) 88.88% (C) 81.81% (D) 80%

A man buys an articles for Rs 27.50 and sells it for Rs. 28.60 total gain percentage is.
(A)3 (B)4 (C)5 (D)6

80% of 320 is more than 28% of 300 by
(A) 172 (B) 178 (C) 182 (D) 188

If the cost of 9 toys is Rs 333, find the cost of 10 such toys?
(A) 580 (B) 370 (C) 385 (D) 830

What will come in the place of ‘?’ in their following question?
60% of 80 + 16 x 30 % of 70 =?
(A) 60 (B) 61 (C) 62 (D)63

28 % of 400 + 45 % of 250 is?
(A) 220.3 (B) 224.5 (C) 190.3 (D) 150

if 20 % of X =30 % OF Y, then X : Y =?
(A) 3:2 (B) 2:3 (C)1:2 (D) 2:1

Cost price = Rs. 45, Profit = Rs. 15. Find the Selling Price.
(A) Rs. 60 (B) Rs. 30 (C)Rs. 55 (D) Rs. 25

A watch was brought for Rs. 190 and sold it for Rs. 175. Find the profit or loss.
(A) profit = Rs. 25 (B) profit=Rs. 15  (C) loss = Rs. 15 (D) Loss = Rs. 25

Suhani sold his bike for Rs. 25,000. Is he suffered a loss of Rs. 13,000. The money he paid for

it is Rs.
(A) 30,000 (B) 38,000 (C) 12,000 (D) 32,000

Loss amount = Rs. 96, Cost Price = Rs. 800, Loss percent =?
(A) 8% (B) 12% (C) 20% (D) 15%
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71

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

profit Amount = Rs144., C.P. = Rs. 1800,profit percent ="?

(A) 8% (B) 12% (C) 20% (D) 15%
ANS: (A)

Satpal bought a tool for Rs.500 and sold it for Rs.550. Find his profit percentage.
(A) 8% (B) 10% (C)12% (D) 15%

Abhaybought a bicycle for Rs. Y and sold that at Rs. X;Find the loss.

(A) X =Y (B) Y- X (C)Y +X (D)X/Y
When there is a loss, Selling price = - Loss.
(A) Cost price (B) Profit (C) Profit percent (D) None of these

If C.P. =Rs. 5,500, S.P. = Rs. 5,940, profit percent = .
(A) 15% (B) 8% (C) 10% (D) 12%

If Rs.4 amount becomes Rs. 10 in 50 years at simple interest. The rate of interest per annum
is
(A) 5% (B)21/2 % (C) 3% (D) 6%

A sum of Rs. 12,500 amounts to Rs. 15,500 in 4 years at the rate of simple interest. What is
the rate of interest?
(A) 3% (B) 4% (C) 5% (D) 6%

A sum of money triples itself at 8% per annum over certain time. The number of years is
equal to
(A) 24 (B) 25 (C)20 (D) 12

The average of nine numbers is 60, that of the first five numbers is 55 and the next three is
65. The ninth number is 10 less than tenth number. Then, tenth number is —
(A) 80 (B) 70 (C)75 (D) 85

Average age of three boys is 22 years. If the ratio of their ages is 6:9:7, then the age of the
youngest boy is
(A) 8 years (B) 9 years (C) 18 years (D) 16 years

Average of 12 numbers is 15. If a number 41 is also included, then what will be the average
of these 13 numbers?
(A) 16 (B) 18 (C) 19 (D) 17

In the first 10 over’s of a cricket game, the run rate was only 3.2. What should be the runin
the remaining 40 over’s to reach the target of 282 runs?
(A) 6.25 (B) 6.5 (C)6.75 (D)7

Find the simple interest on Rs. 5200 for 2 years at 6 % per annum.
(A) Rs. 450 (B) Rs. 524 (C) Rs. 600 (D) Rs. 624
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84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

Interest obtained on a sum of Rs 5000 for 3 years is Rs. 1500. Find the rate percent.
(A) 8% (B) 9% (C) 10% (D) 12%

Find the rate of interest if the amount after 2 years of simple interest on a capital of Rs.
1200 is Rs. 1440.
(A) 8% (B) 9% (C) 10% (D) 11%

A sum become 4 times at simple interest in 10 years. What is the rate of interest?
(A) 10% (B) 20% (C) 30% (D) 40%

How much time will it take for an amount of Rs. 450 to yield Rs. 81 as interest at 4.5%
per annum of simple interest?
(A) 3.5 years (B) 4 years (C) 4.5 years (D) 5 years

Simple interest on 1500 at 7% per annum for a certain time is 210. Find the time
(A) 2 years (B) 1.5years (C) 2.8 years (D) 3 years

Principal =1500, rate of interest=10%, time =3 years, then find the simple interest.
(A) 500 (B) 450 (C) 650 (D) 400

Which are the following optionsis true?

(A) Time =principal x 100/ Simple interest x rate
(B) Time = Simple interest x 100/ Principal x rate
(C) Rate =Principal x 100/ Simple interest x time

(D) Rate = Principal x time/ 100x simple interest

A person crosses a 600m long street in 5 minutes. What is his speed in km per hour?
(A) 3.6 (B) 7.2 (C)8.4 (D) 10

If speed of a car is 72 km/h, find its speed in m/s.
(A) 30 m/s (B) 20 m/s (C) 40 m/s (D) none of these

If speed of a car is 40 m/s, find its speed in km/h.

(A) 148 km/h (B) 142km/h (C) 144km/h (D) 146km/h
ANS. (C)

A train is running at 36km/h. how far does it goes in 10 sec.

(A) 40m (B) 60m (C) 80m (D) 100m
ANS. (D)

An aero plane covers a certain distance at a speed of 240 km/h in 5 hours. To covers the

same distance in 1§ hours, it must travel at a speed of
(A) 300km/h (B) 360 km/h (C) 600km/h (D) 720 km/h

The factors of 30 are —

(A) 2,3,5 (B) 1,2,3,4,10 (C) 1,2,3,10,15 (D) 1,2,3,5,6,,10,15,30

Which of the following is a prime no.
(A) 161 (B) 221 (C) 373 (D) 437
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98.

99.

100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

What should be added to 11/17 to make it 15/177
(A) 26/17 (B) 4 (C)4/17 (D) 4/34

How many factors does a prime number have?
(A)1 (B) 2 (€)3 (D)4

The number 1 is-

(A) A prime number (B) A Composite number

(C) Both a prime and composite number (D) Neither a prime or composite number

A sum of Rs. 12,500 amounts to Rs. 15,500 in 4 years at the rate of simple interest. What is
the rate of interest?

(A) 3% (B) 4% (C) 5% (D) 6%

Average of all prime numbers between 30 to 50
(A)37 (B) 37.8 (C) 39 (D) 39.8

Reeyaobtained 65, 67, 76, 82 and 85 out of 100 in different subjects, what will be the
average.
(A) 70 (B)75 (C) 80 (D)85

Find the average of first 10 multiples of 7
(A)35.5 (B)37.5 (C)38.5 (D)40.5

The average of four consecutive odd numbers is 24. Find the largest number.
(A) 25 (B)27 (C) 29 (D) 31

Find the average of all numbers between 6 and 34 which are divisible by 5
(A) 15 (B) 20 (C) 25 (D) 30

Average of five numbers is 27. If one number is excluded the average becomes 25. The
excluded number is
(A) 35 (B) 45 (C)55 (D) 65

Average of 10 matches is 32.How many runs one should score to increase his average by 4
runs.
(A) 70 (B) 76 (C)78 (D)80

If the average marks of three batches of 55, 60 and 45 students respectively is 50, 55, 60,
then the average marks of all the students is
(A) 54.48 (B) 54.68 (C) 54.60 (D) 54.58

The average age of the mother and her six children is 12 years which is reduced by 5 years if
the age of the mother is excluded. How old is the mother
(A) 40 (B)41 (C)a2 (D)43

0.001 x 0.0001 is equal to ?
(A) 0.0000001 (B) 0.00001 (C) 0.0001 (D) 0.001
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

Find the area of the square whose diagonal is 8 unit
(A) 32 squareunit (B) 10 square unit  (C) 24 square unit. (D) 15 square unit.

An athlete takes 10 rounds of a rectangular park, 40 m long and 30 m wide. Find the total
distance covered by him.
(A) 1400 m (B) 700 m (C)70 m (D) 2800 m.

Find the cost of fencing a rectangular park of length 10 m and breadth 5 m at the rate of? 10
per meter.
(A) % 300 (B) X 600 (C) T 150 (D) X 1200.

The area of a square is 200 sg.cm the length of its diagonal is?
(A) 20 cm (B) 25 cm (C)30cm (D) 35cm

The area of a rectangular sheet of paper is 20 cm?. Its length is 5 cm. Find its width.
(A) 1cm (B) 2 cm (C)3cm (D)4 cm.

A rectangular piece of land measures 0.5 km by 0.25 km. Each side is to be fenced with 4
rounds of wire. What is the length of the wire needed?
(A) 2 km (B) 3 km (C) 4km (D) 6 km.

Suhani went to a park20 m long and 10 m wide. She took ten complete rounds of it. The
distance covered by her,is
(A)30 m (B) 600 m (C) 20 m (D) 10 m.

The distance around a two dimensional shape is:
(A) Area (B) Perimeter (C) Diagonal (D) None of these

If the one side of the rectangle is 4m, find the other side, if the area of rectangle is 56 sq.m
(A) 14m (B) 16m (C) 18m (D) 8m

Suhani alone can do a piece of work in 10 days and Riya alone can do it in 15 days. In how
many days will Suhani and Riya together do the same work?

(A)5 (B)6 (€)8 (D)9

Ravi can do a job in 15 days and Sativa can do the same job in 9 days. With the help of Scott,
they did the job in 3 days only. Then, Scott alone can do the job in

(A) 6'/5 days (B) 62/5 days (C) 63/, days (D) 10 days

A can do a work in 15 days and B in 20 days. If they work on it together for 4 days,
then thefraction of the work that is left is :
(A) 1/4 (B) 1/10 (C) 7/15 (D) 8/15
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124. A takes twice as much time as B or thrice as much time as C to finish a piece of work;
working together they can finish the work in 2 days. B can do the work alone in
(A) 12 days (B) 4 days (C) 8 days (D) 6 days

125. A and B can finish a piece of work in 30 days, B and C can finish it in 15 days, Cand A in 10
days. Time taken by them together to do this work is
(A)5 days (B)2(1/2) days (C) 7(1/2) days (D) 10 days

126. (0.9x0.9x0.9+0.1x0.1x0.1)isequal to
(A) 0.73 (B) 0.82 (C) 0.91 (D)1.00

127. 5-[4-{3-(3-3-6)}] is equal to
(A) 10 (B)6 (C)4 (D)0

128. The marked price of an article is Rs600. After allowing a discount of 25% on the marked
price, there was a loss of Rs30. The loss percentage is:
(A) 7.50% (B) 7.25% (C) 6.25% (D) 6.50%

129. A man travels a certain distance at 12km/h and returns to the starting point at 9 km/h. the
total time taken by him for the entire journey is 7/3 hours. The total distance (in km)
covered by him is:

(A)25 (B)12 (C)24 (D)28

130. By selling 72 articles, a loss equal to the selling price of 8 articles was incurred. What is the
loss percentage?
(A) 12% (B)10% (C)82/9 % (D)100/9 %

131. How many numbers between 100 and 200 are divisible by 13?
(A)7 (B)8 (C)9 (D)10

132. The diameter of a wheel is 49cm. The number of revolutions made by wheel to cover a
distance of 770m is
(A)500 (B)600 (€)700 (D)550

133.  The sum of simple interests on a certain sum of money at 8% per annum for 4 years and 8
years is Rs 960. The sum is
(A)1250 rupees (B)1000 rupees (C)2000 rupees (D)2250 rupees

134. 25% of which number is equal to 68?
(A) 270 (B)280 (C)282 (D)272

135. Thevalue of (7/ 4) - {(25/8) + (6 — (11/4) — (11 /12)}is
(A) 23/58 (B)24/55 (C)21/58 (D)29/58

136. If the number 396258P is divisible by 8, then the value of P is:
(A4 (B)5 (C)6 (D)7
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137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

The time (in minutes) taken by a horse running at a speed of 6 km/hr, around a square
field of side 75m. is
(A) 4 minutes (B) 5 minutes (C) 3 minutes (D) 7 minutes

Find the greatest number that will divide 43, 91 and 183 so as to leave the same remainder
in each case
(A)4 (B) 3 (C) 6 (D) 7

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8 10 and 12 seconds
respectively. In 30 minutes, how many times do they toll together?
(A) 5 (B) 10 (C) 15 (D) 16

The greatest number of four digits which is divisible by 15, 25, 40 and 75 is:
(A)9400 (B)9300 (C) 9600 (D) 9700

The G.C.D. of 1.08, 0.36 and 0.9 is:
(A) 0.18 (B) 0.12 (C) 0.24 (D) 0.5

The least multiple of 7, which leaves a remainder of 4, when divided by 6, 9, 15 and 18 is:
(A) 94 (B) 74 (C) 364 (D) 133

Which one of the following statements is correct
(A) 1 is composite number (B) The multiples of a number are finite
(C) A prime number has only two factors  (D)A prime number is always even

Which one of the following number is not prime
(A) 269 (B)227 (C)157 (D)529

The difference between the successor of a number and the number itself is
(A)O (B) -1 (C) 1 (D) none of these

The product of a whole number (other than zero) and its successor is
(A) Divisible by 4 (B) Divisible by 5 (C) An even number (D) An odd number

The smallest natural number which leaves the remainder 3 when divided by 5 and
remainder 5 when divided by 7 is
(A) 63 (B) 136 (C) 204 (D) 68

Simplification of 3+ 16 + 1.2 x (1/4) - {(1/5) + (1 - 0.8) }is
(A) 5/76 (B) 3/80 (C) 11/80 (D) 9/80

Choose the correct pair of unlike decimals:
(A) 37,2.08 (B) 15.15, 3.07 (C) 8.235,128.002 (D) 3.90, 184.22

Simplification of 36-[18-{14-(15—-4+2x2)}]is
(A) 21 (B) 22 (C) 23 (D) 24
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151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

Simplification of 22 -(1/4) {-5- (- 48) + (-16)}is
(A) 21 (B) 22 (C) 23 (d) 24

Simplification of (-5) - (-48) + (-16) + (-2) x 6 is

(A)-20 (B) 22 (C) -23 (D) -24
ANS.(a)

In a country 55% population is female. 80% of the male population is literate.
How much of females are literate if total literacy is 58%?

(A) 47% (B) 40% (C) 48% (D) 52%

For a candidate to clear an examination, he/she must score 55% marks.

If he/she gets 120 and

fails by 78 marks, the total marks for the examination is

(A) 360 (B) 325 (C) 400 (D) 350

What fraction is equivalent to 0.12% ?
(A) 2/25 (B) 3/25 (C) 7/25 (D) 9/25

Greatest Common Divisor of two numbers is 8 while their Least Common Multiple is 144.
Find the other number if one number is 16.
(A) 104 (B) 45 (C) 72 (D) 96

The greatest number of four digits which is divisible by 15, 25, 40, 75 is
(A)9800 (B) 9900 (C) 5500 (D) 9600

The L.C.M. of two numbers is 14560 and their H.C.F. is 13. If one of them is 416, the other is
(A) 455 (B)450 (C) 500 (D) 550

What will be least number of marbles with Rohit if he can arrange them in rows of 18, 10
and 15 marbles each as well as make a perfect solid square out of all the marbles?
(A) 700 (B) 500 (C) 600 (D) 90

What least possible 4-digit number, when divided by 12, 16, 18 and 20 leaves 21 as
remainder?
(A) 1461 (B)1331 (C) 1453 (D) 2922

5 clocks ring automatically at intervals of 12 minutes, 8 minutes, 3 minutes, 4 minutes and
10 minutes, respectively. In 8 hours from the moment they start, how many times will they
ring together

(A)3 times (B) 4 times (C) 5 times (D) 6 times

There are 3 equilateral triangles with sides 114cm, 76cm and 152 cm. What maximum size
scale can measure them exactly?
(A) 35 cm (B) 36 cm (C)37 cm (D) 38 cm
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163. What largest number will divide 47, 35 and 27 leaving same remainder in each case? What
will be the common remainder?
(A) 4,5 (B)4,4 (C) 4,3 (D) 5,3

164. What is HCF of 36/75, 48/150, 72/135?
(A) 12/1300 (B) 12/1250 (C) 12/1350 (D) 12/1450

165. What is LCM of 36/225, 48/150, 72/65 ?
(A) 144/5 (B) 5/144 (C) 121/5 (D) 5/121

166. The length and breadth of a rectangular floor are 16.25 metre and 12.75 metre respectively.
Find how many minimum number of square tiles would be required to cover it completely?
(A) 3320 (B) 3315 (C) 3450 (D) 3320

167. A man decides to pave with square tiles his hall which is 4.8 metres long and
5.38 metres wide.
Find the largest size of the tile that he could use.
(A)5cm (B) 4cm (C) 3cm (D) 2cm

168. 3 bells beep at an interval of 12, 20, and 35 minutes. If they beep together at 10 a.m.,
then they will again beep together at:
(A)3 p.m. (B) 4 p.m. (C)5 p.m. (D) 6 p.m.

169. Amar paid Rs. 9600 as interest on a loan he took 5 years ago at 16% rate of simple interest.
What was the amount he took as loan?
(A) Rs 9000 (B) Rs 8000 (C) Rs 10000 (D)Rs 12000

170. Guddiinvested some money in a bank at rate of 6% per annum. At simple interest, after 9
years, she got Rs. 8470. How much did she invest?
(A)Rs 5500 (B) Rs 5400 (C) Rs 5300 (D) Rs 5200

171. In 4 years the simple interest on certain sum of money is 9/25 of the principal. The annual
rate of interest is
(A) 6% (B) 7% (C) 8% (D) 9%

172. In 40 years ,an amount becomes 6 times the original amount. What is the rate of simple
interest?
(A) 11% (B) 12% (C) 15% (D) 13%

173. Which of the following is in descending order?
(A) 5/8;9/13; 11/17 (B)5/8; 11/17;9/13 (C) 9/13; 11/17;5/8 (D)11/17;9/13;5/8

174. Which is largest amongst 5/8, 2/3, 7/9, 3/5?
(A)5/8 (B)2/3 (©)7/9 (D) 3/5
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175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

What is descending order of the fractions 14/17, 10/12, 6/7, 18/22?
(A)6/7, 14/17, 10/12, 18/22 (B)6/7, 10/12, 14/17, 18/22
(C)14/17, 10/12 , 6/7, 18/22 (D)18/22, 14/17, 10/12 , 6/7

A class eats 2/5 of chocolates on 1st day. On the 2nd day they eat 3/4 of the remainder.
How many chocolates were there initially if still 75 chocolates are left?
(A)500 (B)600 (C) 700 (D) 800

Akshay buys a motorcycle for Rs.25000. If he decides to sell the motorcycle for a profit of
7%, find the selling price.
(A)Rs 27000 (B)Rs 26750 (C)Rs 28000 (D) Rs 31000

If Harsh sold a match ticket for Rs.340 at a profit of 25%, at what price did he purchased the
ticket?
(A)Rs 270 (B)Rs 262 (C)Rs 280 (D) Rs 272

If selling price of 12 pens is equal to the cost price of 18 pens, find the profit percent.
(A)25% (B) 30% (C) 50% (D)20%

What will be selling price, if cost price is Rs. 120 and gain is 35%?
(A) Rs.162 (B) Rs.165 (C) Rs.166 (D)Rs.175

What is the largest number that can divide 410,751,1030 leaving 7 as a remainder in each
case
(A) 31 (B)62 (c) 37 (D) 44

Three wheels make 60, 36 and 24 revolutions in a minute. These three start revolving
simultaneously from a particular point on their circumference. After how much time will
these points come at one place?

(A) 7 sec (B) 5 sec (C) 6 Sec D) 9 sec

What is the least number which when divided by 18, 24, 30 and 42 leaves a remainder of 1
in any case?
(A)2521 (B)5042 (C) 5054 (D)2500

Which greater number should be subtracted from 10,000 so that the remainder is complete
or divisible by 32, 36, 48 and 54-
(A)9136 (B) 1369 (C)1693 (D) 9316

The value of the largest possible length that can be measured to reach a length of 7 m, 3 m
,85cm ,12 m ,95 cmis
(A6 m (B)7m (C) 5m (D) 4m

The number which when divided by 7, 9, 11 leaves remainder 1, 2, 3 respectively is
(A)1287 (B) 344 (C) 2558 (D) 2550
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187.

188.

1809.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

A person bought 11 oranges for Rs.10 and sold 10 oranges for Rs.11 what percent profit or
loss did he make?
(A)25% profit (B) 25% loss (C)21% profit (D) 21% loss

A person buys 8 pens for X9 and sells 9 pens for X8 and makes percentage profit and loss is
(A)20% profit (B) 20 % loss (C) 20.98% profit (D) 20.98% loss

A person bought a cycle for X 250 and at what price should he sell it to make a profit of 10%
(A)Rs 250 (B)Rs 300 (C)Rs225 (D)Rs275

There is a loss of 12% by selling an article for Rs 352.88, then the cost price is
(A)Rs 400 (B)Rs 401 (C)Rs 402 (D) Rs 403

By selling the horse for X 570, the trader loses 5%, at what price should he sell it to
make a profit of 5%?
(A)Rs625 (B)Rs630 (C)Rs 635 (D)Rs640

A machine is sold for X 5007 with 10% profit if it is sold for X 4370 then the percentage
loss is
(A) 5% (B) 10% (C) 8% (D) 12%

A sum of money becomes 2 times in 10 years at the rate of simple interest, the rate
of interest

is

(A) 5% (B) 10% (C) 8% (D) 12%

A sum of money doubles in 7 years with simple interest In how many years will this
money be quadrupled?
(A) 14 years (B)21 years (C)28 years (D) 35 years

Walking at the speed of 10 kmph a child reaches school 15 minutes late next time increases
his speed by 2 km still he is 5 minutes late the distance is
(A) 6 km (B) 8 km (C) 10 km (D) 5 km

A sum of money was charged for 2 years at a certain rate of interest. If the rate of interest
had been 3% higher, then X 300 more would have been obtained. principal amount is
(A)Rs6000 (B)Rs6050 (C)Rs 7000 (D)Rs5000

A man walking at the speed of 5 kmph reaches his destination late by 5 minutes if
he walks at 6 kmph he reaches in time the distance is
(A) 6 km (B) 2.5 km (C) 3km (D)5 km

A monkey climbs a pole 92 m high 10 m in 1 minute and slides down 1 m in how much
time it reaches the top

(A) 20 minutes 12 sec (B)21minutes (C)22minutes (D)22 minutes 12 sec

A 110 meter long train running at the speed of 7 km/h will take a man walking at
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200.

201.

202.

203.

204.

205.

6 km/h if both are moving in the same direction
(A)7 sec (B)22/5 sec (C)5sec (D)22/3 sec

The length of the bridge, which a train 130 metres long and travelling at 45 km/hr
can cross in 30 seconds, is
(A)245 m (B) 240 m (C)230m (D) 220 m

A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the
length of the train?
(A)160 m (B)175 m (C) 150 m (D) 155m

A train passes a station platform in 36 seconds and a man standing on the platform in 20
seconds. If the speed of the train is 54 km/hr, what is the length of the platform?
(A)160 m (B)240 m (C) 150 m (D) 155m

A train 400 m long can cross an electric pole in 20 sec and then find the speed of the train?
(A) 72 km/h (B) 75 km/h (C) 70 km/h (D) 80 km/h

A train running at the speed of 60 km/hr crosses a pole in 9 seconds. Find the length of the
train.

(A)155 m (B) 150 m (C) 160 m (D) 170 m

A train 800 m long is running at a speed of 78 km/hr. If it crosses a tunnel in 1 min, then the

length of the tunnel is?

206.

207.

208.

209.

210.

211.

212.

(A)355 m (B) 250 m (C) 500 m (D) 270 m

A train 50 meters long passes a platform 100 meters long in 10 seconds. The speed of the
train is:
(A) 55km/h (B) 57 km/h (C) 60 km/h (D) 54 km/h

A train 160 metres long passes a standing man in 18 seconds. The speed of the train is
(A) 32 km/h (B) 16 km/h (C) 64 km/h (D) 24 km/h

Every Sunday, Rajat jogs 3 miles. For the rest of the week, each day he jogs 1 mile more
than the previous day. How many miles does Rajat jogin 3 weeks ?

(A)84 miles (B) 42 miles (C) 126 miles (D)168 miles

Simplification of b—[b—(a+b)—{b—(b—(a-b))}+2a]is
(A) 4a (B) 6a (C) 8a (D) 10a

Estimated value of 16.4x 18.4 is
(A) 100 (B) 400 (C) 300 (D) 200

The area of a square is 64 m square then its perimeter is
(A) 16m (B) 32m (C) 64m (D) 24m

The perimeter of a square book of side 20cm is
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213.

214.

215.

216.

217.

218.

2109.

220.

221.

222.

223.

224,

(A) 40 cm (B) 60m (C)80m (D) 160m

Perimeter of a rectangle is 54 cm and its length is 12 CM then its breadth is
(A) 15 cm (B) 20m (C)30m (D) 60m

How many stamps each measure 2 cm x 1.5 CM can be pasted on a sheet of paper
12cmx6m
(A) 2000 (B) 2500 (C)3000 (D) 2400

The area of a rectangular field is 250 metre square. If the breadth of the field is
10 m, then itslengthis
(A) 25 m (B) 50 m (C) 100 m (D) 125 m

The radius of a circle is 7 cm. Its circumference is
(A) 22 cm (B) 44 cm (C)11cm (D) 66cm

The diameter of a circle is 14 cm. Find its circumference
(A) 44 cm (B) 22 cm (C)11cm (D) 55 cm

The radius of a circle is 7 cm. Find its area
(A) 154 cm?2 (B) 77 cm2 (C) 11 cm2 (D) 22 cm2

The diameter of a circle is 7 cm. Find its area
(A) 154 cm2 (B) 38.5cm2 (C) 22 cm2 (D) 11 cm2

The dimension of the floor of a rectangle hall is 4 m x 3 m. The floor of the hall is to be tiled
fully with 8 cm x 6 cm rectangular tiles without breaking tiles to a smaller size, what many
tiles are required?

(A) 1900 (B) 2500 (C) 3300 (D) 576

A 5 m wide lawn is cultivated all along the outside of a rectangular plot measuring 90 m x 40
m. What is the total area of the lawn?
(A) 1680 m2 (B) 1400 m2 (C) 1350 m2 (D) 1250 m2

A hall 40 m long and 15 m broad is to be paved with stones each measuring 6 dm x5 dm.
What is the number of stones required?
(A) 2000 (B) 2500 (C) 3200 (D) 3600

The length of a rectangle is 2 cm more than its breadth. If the perimeter of the rectangle is
48 cm, then what is the area?
(A) 92 sg.cm (B) 96 sq.cm (C) 143 sq.cm (D) 153 sg.cm

If the area of a circle is 38.5 cm2. What is the circumference?
(A)31cm (B) 24 cm (C)11cm (D) 22 cm
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225.

226.

227.

228.

229.

230.

231.

232.

233.

234,

235.

236.

237.

238.

A colored cloth 1.75 m long and 105 cm wide is made into square handkerchiefs of side
35 cm. How many handkerchiefs can be made with the given cloth?

(A) 19 (B) 17 (C) 23 (D) 15
100 m2= cm2
(A) 10K (B) 1m (C) 1K (D) 100K

Rahul bought 4 kg 90 g of apples, 2 kg 60 g of grapes and 5 kg 300 g of mangoes.
Then total weight of all the fruits he bought is
(A) 14.5 kg (B) 11.45 kg (C) 12.5 kg (D)11.40g

Namita travels 20 km 50 m every day. Out of this she travels 10 km 200 m by bus
and the rest by auto. The distance does she travel by auto is
(A)9.850 km (B) 8.850 km (C)7.250km (D) 7.350 km

On dividing a number by 9,the quotient is 12 and remainder is 7. the number is.
(A)108 (B)95 (C) 115 (D)110

Which one of the following number is exactly divisible by 11.
(A)1552 (B)869 (C)1882 (D)1902

The value of 2.091 divided by 0.17 is
(A)12.3 (B).0123 (C)1.230 (D)4.30

| gain 70 paise on Rs. 70. my gain percentage is.
(A)0.1% (B)1% (C)10% (D)7%

13.572 correct to the tenths place is.
(A)10 (B)13.57 (C)14.5 (D)13.6

0.7499 lies between
(A) 0.7 and 0.74 (B)0.75 and 0.79 (C) 0.749 and 0.75 (D)0.74992 and 0.75

The number of common prime factors of 75,60 and 105 is
(A)2 (B)3 (C)4 (D)5

Which of the following pairs is not co prime.
(A)11,12 (B)8,10 (C)2,3 (D) 31,33

The number of distinct prime factor of the largest four digit number is.
(A)3 (B)2 (C)5 (D) 11

The number of even numbers between 58 and 80 is
(A) 10 (B)11 (C)12 (D) 13
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239.

240.

241.

242.

243.

244,

245.

246.

247.

248.

249,

The sum of the greatest and the least 6 digit numbers form by the digits 2,0,4,7,6,5 using
each digit only once.
(A) 969988 (B)969087 (C)969987 (D) 969980

The difference between the largest number of 7 digits and the smallest number of 8 digits is
(A)1 (B)100 (C)a000 (D) 10000

In a five digit number digit at tens place is 4,digit at unit place is one fourth of tens place
digit digit at hundreds place is zero digit at thousands place is five times of the digit at unit
place and ten thousands place digit is double the digit at tens place. the number is.

(A) 58041 (B)85104 (C)85401 (D) 85041

If one-third of a tank holds 80 litres of water, then the quantity of water that half of the
tank holds is.
(A) 80 litres (B)100 litres (C)120 litres (D) 240 litres

Floor of a room measures 4.5m x3.0m.the minimum number of complete square marbles
slabs of equal size required to cover the entire floor is.
(A)4 (B)S (C)6 (D)7

At what rate percent of simple interest will a sum of money double itself in 12 years.
(A) 33/4% (B)23/4% (C)20/3% (D) 25/3%

HCF of two consecutive even number is
(A) 2 (B)1 (C)3 (D) 4

The smallest four digit number which divisible by 18,24 and 32 is
(A) 1125 (B)1252 (C)1000 (D) 1152

The greatest three digit number exactly divisible by 8,10and 12 is
(A)990 (B)960 (C)690 (D) 860

The cost of fencing a rectangular park of length 150 m and breadth 100m at the rate of
Rs.12 per meter is.
(A)Rs 5000 (B)Rs 5500 (C)Rs 6000 (D) Rs. 3000

The perimeter of a regular pentagon is 125Cm. its each side is
(A) 25 cm (B)30 cm (C)35cm (D) 12.5cm
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SECTION-3
LANGUAGE TEST

Passage-1

Unfortunately, in the schools, we look upon children as mere raw stuff on which we can
impose our unjust views through our powerful wills. Children born healthy are turned into the sick
resemblance of ourselves. We inject them with our own views to make them corrupt. Children
should understand what natural, uncorrupt sound is and reach harmony with themselves and other
objects in the world. The monstrous sin of pride makes us commit gross perversions in their nature.
The child is unable to defy, to be promethean, to create goals, to build world’s inconformity with
what our moral sense knows to be eternal truths. We must free education from the chains of the
evil past, from its ignorance and errors. We must liberate the young from the blind despotism of the
old. We must not destroy the right and power of self-direction. Coercion is an evil. It destroys what is
natural and sacred in a child, the capacity for thinking and acting according to what it knows to be
true.
Questions:
i. Nowadays in schools, we try to inject children with

a. love for mankind

b. our own views

c. a desire to reach their goals

d. love for their country

ii. Education should be free from .........
a. the evils of class-discrimination
b. the chains of religions
c. the chains of an evil past
d. didacticism

iii. What is natural and sacred in a child?
a. it’s capacity to follow what others say and to act accordingly
b. it’s capacity to follow what others say, but to act as per his own sweet will
c. it’s capacity for thinking and acting according to what he knows to be true
d. it’s trying to learn by trial and error method

iv. If we stuff the mind of the child with our own views....
a.itis unable to create goals
b. it is unable to develop his personality to the full
c. it is unable to reach his goal
d. none of the above

v. What does ‘Coercion” mean....
a. Conversion
b. Correction
c. Imposing
d. Controlling of voluntary actions by force.
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Passage-2

The word geography is a combination of two Greek words, ‘geo’ and ‘graphy’ meaning the
science dealing with the study of the earth. Geography is known as a science of life. The earth on
which we live constitutes land, water and air. The earth is surrounded by a cover of air which is
called atmosphere. Equator is an imaginary line drawn around the earth.
Questions:
i. Geography means.............

a. The study of the animals

b. The study about atmosphere

c. The science of the earth

d. The study of life

ii. Geography is also known as.............
a. the science of life
b. the study of its inhabitants
c. the study of factors
d. the study of inventions

iii. The three constituents of the earth are.............
a. land, water and air
b. continents, oceans and landforms
c. animals, human, life
d. climate, atmosphere, seasons

iv. Atmosphere is................
a. a set of lines around the globe
b. a cover of air surrounding the earth
c. none of the above
d. both of the above

v. The opposite word of ‘Imaginary’ is.............
a. real
b. beautiful
c. false
d. genuine

Passage-3

Once there was a mouse. The mouse lived in a dry tree. He was always afraid of the cat. A
saint took pity on the mouse. He turned it into a cat. The cat was now afraid of dogs. So, the saint
turned the cat into a dog. The dog was afraid of the tiger. So, the saint turned the dog into a tiger.
The tiger began to fear hunters in the forest. Then, the saint said, “Be a mouse again”.
Questions:
i. Where did the mouse live?

a.inatree

b.in a burrow

C.inanest.
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ii. Who turned the mouse into a cat?
a. the magician
b. the saint
c. the dog

iii. Where did the tiger live?
a.in the forest
b. in the bush
c. in the desert.

iv. Why did the saint turn the tiger into a mouse?
a. because the tiger was afraid of hunters.
b. the tiger was afraid of the dog.
c. the tiger was afraid of the cat.

v. Find the word in the passage which is opposite of ‘wet.’
a. clean
b. dry
c. good

Passage-4

Gangu and Mangu were two friends. They promised to help each other in need. One day
they were going to bazaar. They had to pass through a dense forest. Just then they saw a bear at
some distance. They got afraid. Gangu was lean and thin. He at once climbed up a tree without
caring for Mangu. Mangu was fat. He could neither run away nor climb up a tree. He soon lay on the
ground and held his breath. The bear came and smelt him. He took Mangu as dead and went away.
After some time Gangu climbed down the tree and asked Mangu. What the bear had whispered in
his ear. Mangu replied that the bear had advised him not to trust a mean, false and selfish friend like
Gangu. Gangu was filled with shame.
Questions:
i. Gangu and Mangu promise each other

a. to become good friend

b. to become enemy

c. to help each other

d. none of these

ii. What did they see in the forest?
a. a bazar
b. a bear
c. the parrot
d. the tiger

iii. climbed up a tree?
a. Mangu
b. Changu
c. Dangu
d. Gangu
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iv. What did bear do?
a. the bear run
b. the bear came and dance
c. the bear disappeared
d. the bear came and smelt

v. Mangu replied Gangu that the bear advised him to...............
a. always trust a friend
b. always trust a mean false and selfish
c. never help others
d. never trust a mean, false and selfish friend

Passage-5

Papaya is the healthiest fruit with a list of properties that is long and exhaustive. Belonging to
the family of caricaceae fruit, it is commonly known as papaw in Australia and Mamao in Brazil. First
of all it originated in southern Mexico and neighboring Central America. But it is now available in
every tropical and sub tropical country. Papaya favors digestion as cures skin irritation and sun
burns. You can munch on it as a salad, have it cooked or boiled or just drink it up as milk-shake or
juices. Modern science confirms the age —old beliefs that papaya has much to contribute to the
health cause. The most important of these virtues is the protein — digesting enzyme in the milky
juice or latex. The enzyme is similar to pepsin in its digestive action and is said to be so powerful that
it can digest 200 times its own weight in protein. It assists the body in the assimilating the maximum
nutritional value from food to provide energy and body building materials.
Questions:
i. Papaya is the healthiest fruit because......

a. it is famous all over the world

b. it is the king of nutrition

c. its health giving properties are great

d. it contributes to health

ii. Papaya can be eaten as
a. salad
b. vegetable
C. protein
d. a cure for skin allergy

iii. The most important part of papaya is
a. its milky juice
b. protein
C. its taste
d. protein — digesting enzyme

iv. Papaya is very good for constipation when
a. one takes it daily
b. one takes it regularly
c. its juice is taken
d. it is eaten raw.
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v. The word ‘ailments ‘means.
a. minor injuries
b. major wounds
c. diseases
d. burns.

Passage-6

All religious heads and many philosophers have emphasized on simple living and high
thinking, adopted this golden principle and achieved greatness in life. Vivekanad, Dayanand, Kabir,
Tolstoy, Vinoba Bhawe, Mahatma Gandhi and many others believed and followed this principle to
the heights of greatness. Now the world is changing very fast and old values are no more cared for.
Now greatness, goodness and success are measured by the yardstick of wealth one has. The main
aim of life is to earn more money and spend it luxuriously. Simple living is no longer a motto of life.
High ideals of patriotism, selfless devotion to society, sacrifice and service are considered hollow
words. But the old saying still holds good and people who practice it, lead a peaceful and satisfied
life.
Questions:
i. What is the golden principle of life?

a. high living and simple thinking

b. simple living and high thinking

c. simple living and simple thinking

d. none of the above.

ii. What is not the motto of life in modern society?
a. luxurious living
b. earn more money
c. simple living
d. simple thinking

iii. What are considered as hollow words by people these days?
a. high ideals of patriotism
b. selfless devotion to society
c. sacrifice and service
d. all of the above

iv. Who lead peaceful and satisfied life?
a. who practice old saying
b. rich People
c. simple people
d. none of the above.

Passage-7

What causes the monsoon? The monsoon, which is essentially the seasonal reversal in wind
direction, causes most of the rainfall received in India and some other parts of the world. The
primary cause of monsoons is the difference between annual temperature trends over land and sea.
The apparent position of the Sun with reference to the Earth oscillates from the Tropic of Cancer to
the Tropic of Capricorn. Thus, the low pressure region created by solar heating can also change
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latitude. The northeast and southeast trade winds converge in this low pressure zone, which is also
known as the Intertropical Convergence Zone or ITCZ. This low pressure region sees continuous rise
of moist wind from the sea surface to the upper layers of the atmosphere, where the cooling means
the air can no longer hold so much moisture resulting in precipitation. The rainy seasons of East Asia,
sub-Saharan Africa, Australia and the southern part of North America coincide with the shift of ITCZ
towards these regions.
Questions:
i. Monsoon is ......

a. a type of sea wave

b. a seasonal reversal in wind direction

c. very hot wind

d. very cold wind.

ii. What is the full form of ITCZ?
a. Intertrance Convergence Zone
b. Intertropical Convergence Zone
c. Intertropical Capricorn Zone
d. Intertropical Conveyance Zone.

iii. The major cause of monsoon is the....
a. difference between annual temperature trends over land and sea
b. difference between day and night temperatures
c. moisture in the atmosphere
d. none of these.

iv. Low pressure region is created by....
a. solar heating
b. lunar cooling
¢. moist wind
d. dry wind.

v. It rains when......
a. moist wind goes down
b. dry wind meets moist wind
c. the air can no longer hold moisture resulting in precipitation
d. annual temperature goes down.

Passage-8

There are five things which no one is able to do in this world; first, to stop growing old when
one is growing old; second, to cease being sick; third, to cease dying; fourth, to deny extinction
when there is extinction; fifth, to deny exhaustion. Ordinary people in the world sooner or later run
into these facts, and most people suffer consequently, but those who have heard the Buddha's
teaching do not suffer because they understand that these are unavoidable.

240



Questions:
i. What is impossible to stop?
a. growing old
b. being sick
c. dying
d. all of the above

ii. Why do most of the people suffer?
a. they do not follow Buddha's teaching
b. they hear Buddha's teaching
c. they do not ignore Buddha's teaching
d. all of the above

iii. Who does 'they' mean in the above passage?
a. common people
b. Buddha
c. people
d. things

iv. Choose a synonym of 'refuse' from the passage.
a. cease
b. deny
c.old
d. sick

v. Past form of the word 'call' is
a. calling
b. called
c. call
d. calls

Passage-9

Once there was a shepherd boy who liked to play tricks. One day, while he was watching over
the herd, the boy decided to play a trick and cried "wolf! wolf!". The people who heard rushed over
to help him. But they were disappointed when they saw that there was no wolf and the boy was
laughing at them. The next day, he did it again and people rushed to his aid only to be disappointed
once again. On the third day, the boy saw a wolf devouring one of his sheep and cried for help. But
the people who heard him thought this is just another of the boy's pranks so no one came to help
him. That day, the boy lost some of his sheep to the wolf.

Questions:
i. Why were people disappointed?
a. there was no wolf
b. the boy was laughing at them
c. the boy played a trick on the people
d. all of the above
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ii. Why didn't people go to help the boy on the third day?
a. they wanted to teach the boy a lesson
b. they were busy in their work
c. they thought that it was a prank
d. all of the above

iii. Write the plural form of "sheep".
a. sheeps
b. ships
c. sheep
d. all of the above

iv. Synonym of "sad" is
a. disappointed
b. rejoice
c. merry
d. happy

v. Moral of the story is....
a. cheat the people
b. don't lie and cheat the people
c. help others
d. honesty is the best policy

Passage-10

Four seasons fill the measure of the year;

There are four seasons in the mind of man:

He has his lusty Spring when fancy clear

Takes in all beauty with an easy span;

He has his Summer, when luxuriously

Spring's honey cud of youthful thought he loves
To ruminate, and by such dreaming high

Is nearest unto heaven: quite coves

His soul has in its Autumn, when his wings

He furled close; contended so to look

On mist in idleness- to let fair things

Pass by unheeded as a threshold brook.

He has his winter too of pale disfeature,

Or else he would forgo his mortal nature. -John Keats

Questions:
i. In this poem man's mind is compared to:
a. seasons
b. nature
C. spring
d. winter
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ii. How many seasons are there in the mind of man?
a. four
b. three
c. five
d. two

ii. 'laziness' means:
a. fair
b. idleness
c. quite
d. look

iv. The poet of the above poem is....
a. Alfred Lord Tennyson
b. John Keats
c. John Donne
d. Joan Keats

v. "ldleness" is an example of which part of speech
a. noun
b. pronoun
c.verb
d. adverb

Passage-11

Once there was a fool who forgot to take any water with him on his travels. He had been
walking through a forest for several days and he was tormented with thirst. At last he reached a
river. But he did not drink. He just stood there, gazing in dismay at the flowing waters. Someone saw
him there and asked, “Why aren’t you drinking? You look so thirsty.” The fool replied, “I am thirsty.
But how could | drink all this?” And with that the fool walked on, thirstier than ever. Even the biggest
river can only be drunken one gulp at a time.
Questions:
i. The fool forgot to take the following with him on his travels.

a. food

b. milk

c. tea

d. water

ii. What did the fool do when he reached the river?
a. he waded through the river.
b. he drank the water from the river.
c. he swam in the river.
d. he gazed at the flowing waters.
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iii. The man was a fool because ........ccocoeun..
a. he drank the water.
b. he didn’t know how to drink entire river waters.
c. he had no brains
d. he failed to quench his thirst.

iv. The fool was tormented with thirst because.......
a. he didn’t eat food
b. he couldn’t drink river water
c. he drank too much of river water
d. he had been walking through the forest for many days

v. The meaning of ‘tormented’ is .............
a. tortured
b. enjoyed
c. slept
d. drank

Passage-12

In the beginning, tigers were the stupidest of all creatures. They didn’t know anything. So the
king of the tigers went to the cat to ask for lessons. The cat taught the tiger how to stalk, and crouch,
and spring, and many other things. At last the tiger thought he knew it all and decided to put his new
knowledge into practice. He leaped at the cat, intending to kill and eat her. In a flash, the cat climbed
a tree, where the tiger could not follow. “Come down,” roared the tiger. “Come down a
minute!”“No! No!” replied the cat. “It’s just as well | didn’t teach you everything | know. Otherwise,
you would be able to fetch me down yourself”. And that is why the tiger cannot climb trees.
Questions:
i. The tigers were the stupidest of all creatures because ....

a. they knew something

b. they didn’t know something

c. they didn’t know anything

d. they knew everything

ii. Why did the king of the tigers go to the cat?
a. to teach lessons
b. to give lessons
c. to ask for lessons
d. none of the above

iii. The cat taught the tiger to ......
a. stalk, crouch and spring
b. spring, couch and dive
c. swim, dive and wade
d. creep, crawl and climb
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iv. How did the tiger put his new knowledge into practice?
a. leaping at the cat, intending to kill and eat her
b. talking to the cat, intending to lure her
c. singing to the cat, intending to win her over
d. none of the above

v. The tiger did not succeed because ....
a. he fell down
b. he was not trained
c. the cat climbed a tree, where the tiger could not follow
d. the cat hid behind the tree

Passage-13

Kiran Bedi was born on June 9, 1949. Her father’'s name was Prakash Lal. He was a rich
landlord in Punjab. He had decided to educate his four daughters. So he gave high education to all
his four daughters. While studying at the Sacred Heart Convent, Kiran joined the National Cadet
Corps (NCC) and took up tennis, a game which her father used to play. After school, she went on to
study Political Science at the Government College for Women at Amritsar. Kiran was a great sports
player, particularly a tennis player.
Questions:
i. When was Kiran Bedi born?

a. 9 June 1949

b. 9 June 1950

c.9June 1951

d. 9 June 1952

ii. How many daughters did Prakash Lal have?
a. three
b. four
c. two
d. five

iii. Which game did Kiran Bedi playing her school days?
a. cricket
b. tennis
c. volleyball
d. football

iv. Where did Kiran Bedi study political science?
a. in Amritsar
b.in Jalandhar
c. in Gurudaspur
d. in Chandigarh

v. Kiran Bedi has proved that ....
a. women can lead police contingents
b. women can play tennis
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c. women owe their success to their father’s
d. women can’t be excellent police officers

vi. In which state of India was Kiran Bedi’s father a landlord?
a. Punjab
b. Maharashtra
c. Haryana
d. Karnataka

Passage-14

It’s a rainy day at my house. It’s rainy and windy. The nice fallen leaves are flying in my yard.
They are beautiful. They are orange, red, brown, and gold. They are falling off the trees in my yard. |
like to watch the leaves fly. The rain and wind make the leaves come off the trees. Soon the leaves
will be all on the ground. | can help my mom and dad to collect them up. | like this time of year.
Questions:
i. What season is it?

a. rainy season

b. winter season

C. summer season

d. autumn season

ii. What colours of leaves did the boy see?
a. the leaves are orange and red.
b. the leaves are brown.
c. the leaves are gold.
d. all of the above.

iii. What does the boy like to watch?
a. he likes to watch the rain bow.
b. he likes to watch the leaves fly.
c. he likes to watch the sun.
d. he likes to watch the moon.

iv. Where will the leaves fall?
a. the leaves will be all in the sky.
b. the leaves will be all on the ground.
c. the leaves will be all in the balcony.
d. the leaves will be all on the terrace of the house.

v. The opposite word for ‘night’ from the passage is
a. leaves
b. beautiful
c. day
d. ground
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Passage-15

A singer called Mukandan Misra and his wife lived in Behat near Gwalior. Tansen was their
only child. It is said that he was a naughty child. Often, he ran away to play in the forest, and soon
learnt to imitate perfectly the calls of birds and animals.
Questions:
i. Who was Mukandan Misra?

a. Tansen’s father

b. Tansen’s uncle

c. Tansen’s brother

d. Tansen’s grandfather

ii. Where did Mukandan Misra and his wife live?
a. in Behat near Jhansi
b. in Behat near Gwalior
c. in Behat near Lucknow
d. in Behat near Gorakhpur

iii. How many children did Mukandan Misra have?
a.only one
b. two children
c. three children
d. five children

iv. What type of child Tansen was?
a. obedient child
b. common child
. naughty child
d. strong child

v. Give similar word for to copy’ from the passage
a .naughty
b. to imitate
c. learnt
d. often

Passage-16

Indian Railways in a tribute to freedom fighter Subhash Chandra Bose who is also known as
‘Netaji’ has decided to rename the Howrah-Kalka Mail (12311-12312) as ‘Netaji Express’. The train
first operated in the year 1866 and it has been in service of the nation for more than 150 years. The
Howrah-Kalka Mail is one of the oldest running trains at present in the Indian Railways network.
Howrah-Kalka Mail is very popular and one of the oldest trains of Indian Railways. The Howrah-Kalka
Mail runs between Howrah (Eastern Railway) and Kalka (Northern Railway) via Delhi,” Railway
Ministry said in a notification. The train currently operates as 02311 and 02312 as a special train due
to Covid and it will run with it new name once Indian Railways normalizes the operations. It is said
that Netaji Subhas Chandra Bose took this train from Gomoh under Dhanbad district to escape from
the British administration 80 years ago
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Questions:
i. What is the new name of the train Howrah-Kalka Mail?
a. Kolkata Express
b. Netaji Express
c. Gomoh-Dhanbad Express
d. Rajdhani Express

ii. The train was launched in which year?
a. 1966
b. 1947
c. 2021
d. 1866

iii. Who took this train to escape from British?
a. Mahatma Gandhi
b. Netaji Subhas Chandra Bose
c. Rabindranath Tagore
d. Dr.B.R.Ambedkar

iv. Between which two railway stations does the train run?
a. Howrah-Kalka
b. Howrah-Ahmedabad
c. Howrah-Delhi
d, Mumbai-Pune

v. In which district does Gomoh lie?
a. Kolkata
b. Kalka
c. Dhanbad
d. Delhi

Passage-17

Dilip Kumar was a well-known name in the 20th century. He was born in Pakistan. After
coming to India, he became a very versatile actor.His real name was Mohammad Yusuf Khan. At the
age of 44, he married Saira Banu whose age was 22 years at the time of marriage.Dilip Kumar was
honored with Dadasaheb Phalke in 1995. He played tragic roles in many movies, so he was also
called the Tragedy King. He died on 7 July 2021 due to prolonged illness.His most famous movies are
Kohinoor, Saudagar, Kranti, Sanghursh, Mughal-E-Azam, Devdas, etc.
Questions:
i. Where was Dilip Kumar born?

a. India

b. England

c. Pakistan

d. Afghanistan
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ii. When did Dilip Kumar get married?
a. at the age - 44
b. at the age -22
c. at the age -20
d. at the age -1995

iii. Write any three names of Dilip Kumar’s films mentioned in the passage?
a. Kohinoor, Saudagar, Devdas
b. Kohinoor, Waar, Devdas
c. Kohinoor, Devdas, Mughal-Z-Azam
d. Mughal-S-Azam, Kohinoor, Devdas

iv. Which award was given to him in 19957
a. Oscar
b. Film fare
c. National award
d. Dadasaheb Phalke

v. When did Dilip Kumar die?
a. 7 June 1947
b.5 Sep.1995
c. 7 July 2021
d. 4 July 2007

Passage — 18

Many people think of teeth as bone, but they are not made of bones. Actually, they are made
of tissues. The main function of teeth is to chew and bite food. The roots of the teeth are
surrounded by the gums. The beauty of a person’s face is also affected due to the lack of proper
settlement of the teeth. There are 20 teeth in children and 32 teeth in adults. Teeth erupt twice in
humans. The first time, they are temporary but the second time, they become permanent. Humans
have four types of teeth, Incisors, Premolars, Molars, and Canines.

Questions:
i. Teeth are made of .......
a . bones
b . tissues
c . flesh
d. cells

ii. An adult has ....... teeth.
a. 20
b. 28
c. 32
d. 24

249



iii. The main function of teeth to .......
a. ingest
b. increase the beauty of the face
c. collect the food
d. chew

iv. Children have ....... teeth.
a. 20
b.12
c. 15
d. 32

v. Identify types of teeth.
a. Incisors, Postmolars,
b. Molars, and Canines.
c. Postmolars, Canines
d. Molars, Postmolars

Passage-19

We all love our mothers very much. They keep us in the stomach for nine months, then give
birth to us. That’s why mothers love their children very much. They keep us away from social evils
and try to make us good citizens. Our mothers work day and night without any salary. They are our
mothers as well as our teachers and our best friends. They tell us good stories and sometimes sing
lullabies too. To work selflessly, to be hardworking, to be courageous, and to have the spirit of
sacrifice are the qualities of our mothers.
Questions:
i. How many months does mother keep us in the stomach?

a.”7

b.9

c. 10

d.8

ii. What do mothers love the most?
a. good citizens
b. best friends
c. good stories
d. their children

iii. Who works day and night without any salary?
a. children
b. citizens
c. mothers
d. friends
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iv. What do mothers sometimes sing?
a. songs
b. stories
c. lullabies
d. prayers

v. What are the qualities of our mothers?
a. selfless, hardworking, the spirit of sacrifice
b. selfless, hardworking, the spirit of activeness
c. selfishness, hardworking, the spirit of sacrifice
d. selfless, smart working, the spirit of sacrifice

Passage-20

As a five-year old, Bismillah Khan played gilli danda near a pond in the ancient estate of
Dumraonin Bihar. He would regularly go to the nearby Bihariji temple to sing the Bhojpuri ‘Chaita’, at
the end ofwhich he would earn a big laddu weighing 1.25 kg,a prize given by the local Maharaja. This
happened 80 years ago, and the little boy has travelled far toearn the highest civilian award in India
— the Bharat Ratna. Once Shekhar Gupta asked,”When Partition happened, didn’t you and
yourfamily think of moving to Pakistan?’’Bismillah Khan answered,“God forbid! Me, leave Benaras?
Never! | wentto Pakistan once—I crossed the border just to say | have beento Pakistan. | was there
for about an hour. | said namaskar to the Pakistanis and salaam alaikum to the Indians! | had a good
laugh.”
Questions:
i. At what age Bismillah khan played gillidanda?

a.”7

b.6

c.5

d.8

ii. What prize would Bismillah khan earn for singing Chaita?
a big laddu
b. the Bharat Ratna
c. gilli danda
d. Shehnai

iii. How long was Bismillah in Pakistan?
a. an hour
b. a day
c. two hours
d. two days

iv. What did Bismillah khan say to Pakistan?
a. salaam alaikum
b. namaskar
c. God forbid
d. Khuda Haffiz
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v. where did Bismillah Khan use to go to sing the Bhojpuri Chaita?
a. nearby Bihariji temple
b. Benaras
c. Pakistan

d. Dumranin Bihar

Passage-21

Albert Einstein was born on 14th March in 1879, in the German city of Ulm. From the very
beginning, since his childhood, he loved mechanical toys - such toys in which some kind of
machinery was used such as automated cars, automated air planes. For about two and half years he
could not speak and when he did learn to speak, he uttered every word twice. His play mates called
him “Brother Boring”, and his mother regarded him a freak because of the abnormally large size of
his head. Einstein was awarded the Nobel Prize for Physics in the year 1921.
Questions:
i. In which city was Einstein born?

a. Ulm

b.Nobel

c. German

d. America

ii. What did Einstein love as a child?
a. mother
b. sister
c. mechanical toys
d. Physics

iii. When was Einstein awarded Nobel Prize?
a. 1879
b.1921
c. Physics
d. airplanes

iv. What was Einstein called by his playmates?
a. mechanical Toy
b. brother boring
c. large headed
d. Nobel Scientist

v. When did Einstein start to speak?
a. at the age —1.5 years
b. at the age —2.5 years
c. at the age —3 years
d. at the age —5.1 years
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Passage-22

Midas was a king. He was a greedy person. He loved gold more than anything in the world.
He had lots of wealth but he was never really a happy person. One-day God Bacchus came to Midas.
Midas had once helped god Bacchus and in return Bacchus offered him a gift. “What shall | give you
to make you happy,” the God asked him. Midas thought for a while and then said, “Please give me
the power to turn everything | touch into gold.” Bacchus laughed and said, “Your wish is granted as
soon as the Sun rises tomorrow, you will have the golden touch.” The next morning Midas woke up,
and he had his golden touch. He touched his bed, the chairs, doors, windows and all became gold.
Suddenly, he felt very hungry. He sat at the table but as soon as the food touched his lips, it turned
into gold. So did the water. It seemed he could no longer eat or drink. After some time, his daughter
came to him. When he put his hand on her, she became a gold statue. In the end, Midas became
very sad and prayed God Bacchus to take away the golden touch from him.
Questions:
i.What kind of a person Midas was?

a happy

b.miser

c.greedy

d.selfish

ii. What gift did Midas ask to God Bacchus?
a. a gift of wealth
b. a gift of being rich
c. a gift of gold touch
d. a gift of happiness

iii. Why was Midas not able to eat or drink?
a. because he has got a lot of gold
b. because he was not hungry
c. because he was overjoyed to get a gold touch
d. because he had a gold touch and things would become gold on his touch

iv. Bacchus offered King Midas a gift because----
a. God Bacchus was his friend
b. God Bacchus wanted to help Midas
c. Midas had helped God Bacchus once.
d. none of above reason

v. Why did Midas request God to take away the golden touch from him?
a. because everything he would touch would turn into gold
b. because he was fed up of the blessing
c. because he was unable to do anything
d. all of above are correct reasons
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Passage-23

Bees live in a house that is called a hive. There are three kinds of bees: workers, drones, and
queens. Only one queen bee can live in each hive. If she is lost or dead, the other bees will stop their
work. Bees are very wise and busy little creatures. They all join together to build cells of wax for their
honey. Each bee takes its proper place and does its own work. Some go out and gather honey from
the flowers; others stay at home and work inside the hive. It is not safe for children to handle bees
because bees have a painful sting that they use in their defense.
Questions:
i. What are the kinds of bees?

a. worker

b. drones

C. queen

d. all of above

ii. How many queens are there in one hive?
a.one
b. three
c. two
d. four

iii. What will happen if the queen is lost or dead?
a. bees will find another work
b. bees will stop working
c. bees will find her out
d. nothing will happen

iv. The place where bees live is called ---
a kennel
b. stable
c. hive
d. nest

v. Why is it NOT safe for children to handle bees?
a because bees live in group
b. because they build cells of wax which is dangerous
c. because bees have a painful sting and they attack in defense
d. because bees are poisonous

Passage-24

The giraffe is the tallest of all living land animals. A male can grow up to 18 feet and a female
up to 15 feet. Such height enables them to escape from the competition for ground level grass that
exists among the leaf-eaters. It also gives him a long range of vision. He takes the warning of the
approaching enemy early. Giraffes eat a variety of leaves. A giraffe’s long neck is made up like that of
man and most other mammals. The bones are attached to one another with ball and socket joints.
These make the neck flexible. It can run at 50km per hour. Rising from a lying position is a problem
for such a large animal. So it usually keeps standing even while it sleeps.

254



To reach water with such a long neck and legs, a giraffe spreads its front legs wide apart. Then it
lowers its neck to drink. This awkward position makes it easy for the lion and crocodile to attack it.
Questions:
i. Giraffe is the -----------

a. shortest animal of all living land

b. tallest of all living land animals.

c. animal with a short range of vision

d. animal with a trunk

ii. What could be the maximum height of a male Giraffe?
a. 18 feet
b.15 feet
c.17 feet
d.13 feet

iii. What gives Giraffe a long range of vision?
a. its long neck
b .its long legs
c. its height
d. its eyes

iv. At what speed a Giraffe can run?
a.50 K.M. per hour
b.18 K.M. per hour
c.15 K.M. per hour
d. 13 K.M. per hour

v. Why is it easy for lion & Crocodile to attack Giraffe?
a.because of its height
b.because of its long legs
c. because of its long neck
d. because of its awkward sitting position

Passage-25

Walking is a pleasure. When we are in a vehicle, our attention is fixed on the road. There is
no time to spare for the things on the either side of the road. A walker can, however, enjoy the
sights on either sides. If he so likes, he can change his speed. He can walk slowly when there is much
beauty around. He can go fast when he wants his walking to be an exercise for his limbs as it
regulates our blood circulation. Walking also give us a feeling of freshness as well. However, no
young person should walk thinking that it is an exercise. It will kill all the pleasure. Moreover, there
are many other exercises that are good for health. Walking should be made a habit for enjoyment.
One should feel relaxed and not tired after a good walk. We should walk only when the weather is
fine. We should avoid walking when it is hot or misty.
Questions:
i. What is a pleasure mentioned in the above passage?

a. driving

b. running
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c. walking
d. exercise

ii. When is your attention fixed on the road
a. when you are in a car
b. when you run
c. when you are exercising
d. when you are walking

iii. When does walking become exercise?
a. by walking fast
b. by stopping
c. by jumping
d. by driving

iv. What can be a very good exercise according to the passage?
a.jumping
b. walking
C. jumping
d. driving
v. When should we walk according to the passage?
a. when the weather is overcast
b. when the weather is bad
c. when the weather is fine
d. when the weather is stormy

Passage-26

Kathakali, a dance form, native to Kerala in South India literally means ‘story play’. It is a
classical dance drama, colourful and dramatic in content and character. This art form is three
hundred years old. Most of its elements and choreography have been influenced by a 9t century art
form of Kerala called Koodiyattam, recently recognized by the UNESCO as a heritage art form.
Surprisingly for a dance drama form, the Kathakalidancers do not speak a word. A group of narrators
recites the story in the form of a song, and the dancers interpret the narrative live with hand
gestures called mudras combined with facial expressions and eye movements.

There are at least seven hundred mudras combined in twenty-four different ways. The best

dancers can move the eyeballs in 17 ways. There are eight ways to move the eyebrows and eight
for the eyelids. It is surprising how they manage it. Till recently Kathakali was danced only by men.
Men also enacted a female role with elegance and charm. The dancers take up four to five hours
before the play to paint their lips, eyebrows and eyelashes. All characters having their prescribed
make-up.
The colours used suggest the temperament and mood of the characters-green for good, red for
valour and ferocity, black for evil and primitiveness, yellow for wonder and white for purity. The
dancer’s eyes are elongated with black Kajal. Whereas previously they were performed on open
platforms, they are now enacted in the auditoriums. Undoubtedly, this Indian ballet has its own
charm.
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Questions:
i. What is the meaning of a word “Kathakali”?
a. story play
b. story song
c. story dance
d. story game

ii. Based on your reading of above passage. Identify the correct sentence from the sentences
given below.
a. Kathakali means story dance
b. Kathakali dancers do NOT speak a word
c. there are 17 mudras in Kathakali
d. dance form Kathakali has its origin in Tamil Nadu

iii. Identify the incorrect combination of Colour and Mood suggested through the dance
form Kathakali
a. green —good
b. red —valour& ferocity
c. black-purity
d. yellow-wonder

iv. The best dancers can move the eyeballs in-------
a. 15ways
b. 24 ways
c. 17ways
d. 8 ways

v. Different moods of the characters are suggested by-----
a. colours
b. dance steps
c. rotating eyeballs
d. props

Passage-27

Rabindranath Tagore, a multitalented personality, can be explained as "here is god's plenty."
He was a poet, a novelist, a painter, a social reformer, a composer, a philosopher etc., and was also
known as Gurudev. Although his first language was Bengali, he started his writings in Bengali but
later translated many of them into English, which became the milestone for his literary career.
However, he has written so many poems, short stories, novels, drama etc., but his fame mainly lies
on 'Gitanjali' and the national anthem 'Jana Gana Mana'. He had also written the national anthem
for Bangladesh, 'Amar Shonar Bangla'. The national anthem of Sri Lanka was also inspired by
Tagore's work.
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Questions:
i. Rabindranath Tagore was a ------------ . (Choose the odd one out)
a. poet
b. politician
c. reformer
d. philosopher.

ii. Rabindranath Tagore contributed in the national anthem of . (Choose the
odd one out)
a. India
b. Bangladesh
c. Sri Lanka
d. Pakistan.

iii. Rabindranath Tagore is known for
a. National anthem
b. Gitanjali
c. both
d. none.

iv. Milestone means
a. a turning point
b. stones
c. miles
d. none

v. Fame ig-------------—--- .
a. noun
b. adjective
c.verb
d. adverb.

Passage-28

Bees are insects. Bees are special insects because they can fly! They can move through the
air like an airplane! Bees can fly because they have wings. They use their wings to fly. Bees can fly
fast. Bees can also fly slowly. They can fly up and they can fly down. They need to fly to get to the
flowers! Bees can have three colours. They can be yellow, red, and orange. All bees are black in
some places. Bees have three main parts. They have a head. They have a body. And, they have a
stinger. The stinger is used to defend against enemies.

They also have six legs. They use their legs to stand and climb. They also use their legs to eat
and collect pollen. Bees live in many places. They live in Africa, Australia, Asia, Europe, North
America, and South America. The only continent that bees do not live on is Antarctica! | understand
why they don’t live in Antarctica. It's too cold! Most of the time, bees are nice to humans. If you do
not bother them, they will not bother you. Have fun watching the bees.
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Questions:

i. What are bees?
a. mammals
b. birds
c. reptiles
d. insects

ii. Bees use legs for---------- . (Choose an odd one out)
a. collecting pollens
b. standing
c. climbing
d. biting

iii. What is the stinger used for?
a. to eat food.
b. to defend against enemies.
c. to pass the messages
d. tofly

iv. Bees are found in----------------- . (Choose odd one out)
a. Asia
b . Australia
c. Europe
d. Antarctica

v. Bees can be--------------—- . (Choose odd one out)
a.red
b. yellow
c. orange
d. Purple

Passage-29

A wood-pecker is a small bird with a bunch of red feathers on its head. It has a very strong
and sharp beak. These birds are omnivorous and eat fruits, tree saps and insects. Woodpeckers are
colourful and beautiful birds, well-known for pecking the wood of trees with their pointed beaks.
And this unique characteristic of these birds does justice to their name: woodpecker. You will often
see a wood-pecker making holes on a tree trunk.
In order to make holes in tree trunks, it first finds a rotten tree trunk, it then clings to the bark. Next,
it hits hard against the wood with it’s beak for hours. The wood-pecker then finds wood-lice or other
insects. These insects are it’s food. The wood-pecker also make holes in tree-trunks to make a nest.

Questions:

i. Woodpecker is ---------------
a. herbivore
b. carnivore
Cc. omnivore
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d. all the above.

ii. Woodpecker builds its nest --------------
a.on branch of tree
b. in the trunk of a tree
c. on aledge
d.in a house

iii. A bunch of red feathers is an example of-------------
a. abstract noun
b. common noun
C. proper noun
d. collective noun.

iv. Unigue means-----------------
a. common
b. ordinary
C. uncommon
d. simple

v. Woodpecker is a--------------- bird.
a. beautiful
b. colourful
c. wonderful
d. beautiful and colourful.

Passage-30

One bright day in late autumn a family of Ants were bustling about in the warm sunshine,
drying out the grain they had stored up during the summer, When a starving Grasshopper, his fiddle
under his arm, came up and humbly begged for a bite to eat."What!" cried the Ants in surprise,
"Haven't you stored anything away for the winter? What in the world were you doing all last
summer?""l didn't have time to store up any food," whined the Grasshopper; "l was so busy making
music that before | knew it the summer was gone."The Ants shrugged their shoulders in
disgust."Making music, were you?" they cried. "Very well; now dance!" And they turned their backs
on the Grasshopper and went on with their work.There's a time for work and a time for play.
Questions:
i. Ants were --------—----

a. sharing food

b. drying food

¢ enjoying food

d baking food

ii.The grasshopper wanted some-------- to eat.
a. food
b. water
c. shelter
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d. none of the above.

iii. The grasshopper was making music in-------------
a. winter
b. summer
c. autumn
d. spring

iv. Ants told the grasshopper to---------------
a. dance
b. sing
c. both
d. none

v. A colony of ants is
a. collective noun
b. proper noun
€. common noun
d. abstract noun.

Passage-31

“One Sunday morning the newly appointed priest of a local church in Gurgaon saw that only
one farmer from a nearby village turn up for mass prayer. He was very much disappointed for he had
expected large audience and had prepared to deliver such a precious talk to a mere farmer. “I see
you are the only one who has turned up for mass prayer today,” said the priest, “Should | go on with
my sermon? What do you have to say? ” “Well father,” said the farmer. “As a farmer, | can tell you
that if | go to my cattle-shed with a lot of fodder, but find only one cow there, | will definitely feed
her.” This helped the priest to make up his mind to deliver the sermon. At last when the priest had
finished delivering his sermon and looked at the farmer, he did not find him too pleased. “How did
you look my sermon?” the priest asked. “Well father,” said the farmer. “As a farmer, | can tell you
that if | go to my cattle-shed with a lot of fodder and find only one cow there, | will not force the cow
to eat the whole lot of fodder.” He then went out of the church, leaving the priest speechless.
Questions:
i. Where did the farmer go to attend mass prayer?

a. temple

b. church

c. mosque

d. none of the above

ii. Who has seen a farmer for mass prayer?
a. owner of the church
b. mother
c. guard
d. priest

iii. How did farmer encourage Priest for mass prayer?
a. by supporting him to listen carefully.
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b. by telling him as he provides food for one cow also.
c. by threatening him to complete his job
d. by requesting him to complete his prayer.

iv. According to Farmer, what went wrong with sermon of Father?

a. father gave him a short sppech.

b. father didn’t clear his doubts.

c. father didn’t talk in local language to understand him better.

d. father showered upon him excessive speech than necessary.
v. Choose the correct synonym word for ‘happy’.

a. pleased

b. worry

c.angry

d. care

Passage-32

Fire has been worshipped in ancient cultures worldwide .In Greek mythology
Prometheus is said to have stolen fire from heaven. He brought it down to earth for
human use. Fire is the spirit of the Sun. it is the purest of all elements on earth. Itclears
darkness which is the region of the evil spirit. It is always moving upwards. It is
compassionate when controlled, but it is merciless in destruction when out of
control.Moreover, it is the most human of all elements — it is used in service of the
human beings. It has made human cultural evolution on earth possible.
Questions:
i. In Greek mythology fire is stolen from.......

a. hell

b. earth

c. heaven

d. sun

ii. The purest element on earthis....
a. fire
b. water
C.sun
d. air

iii. The evil spirit lies in.............
a. sky
b. water
c. fire
d. darkness

iv. Fire has made human cultural evolution..........
a. Impossible on earth
b. Possible on earth
c. Troublesome on earth
d. Spread on earth
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v. The word that means ‘affectionate’ in the passage is...........
a. cruel
b. spirit
c. kind
d. service

Passage-33

Christmas is my favorite holiday .My grandmother makes ham salad and cup
cakes on Christmas .l also get a present on Christmas!. Last year | got a new set of paint
brushes.This year | hope to get new pencils and drawing pad .| always have fun on
Christmas. Halloween is another good holiday. My grandmother makes candy corn and
cupcakes on Halloween. People wear costumes during Halloween. Last year | wore a
skeleton costume. This year | am going to wear a zombie costume. July 4 is a good holiday.

July 4 is the birthday of the United States of America. My grandmother makes
hot dogs and salad on July 4.1 don’t have to go to school on 4™"July but | don’t get any
presents either. If | got presents on July 4 it would be my favourite holiday.
Questions:
i. Which holiday does the author like most?

a. christmas

b. halloween

c. easter

ii. Based on the things the author gets for Christmas, we can understand that he likes
a. sports
b. art
C. music

iii. What is the author’s favourite thing about holidays?
a. not going to school
b. eating candy
c. getting presents

iv. What costume did the author wear for Halloween last year?
a. a skeleton costume
b. a zombie costume
c. a pumpkin costume

v. What is the best title for this passage?
a. The Holidays | Like
b. Why Christmas is Best
c. Hot Dog sand Salad
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Passage-34

Frogs live on land and in water. Frogs have long back legs and short bodies. Their eyes stick
out. They do not have tails. Most of the time they move in the water, but they can also move on
land. Frogs have smooth, not bumpy, skin. They can breathe through their skin. Their skin must stay
wet so they can breathe through it. Young frogs must breathe through their skin. Older frogs grow
lungs. They breathe through their lungs when they are on land, just like people do. Frogs lay their
eggs in ponds and other bodies of water, like lakes. Frogs must move fast to catch something to eat.
They must also get away from bigger animals.

Some frogs have webs of skin between their toes. Webbed toes are good because it helps
them to swim very fast. Tree frogs have toe pads. The toe pads help them hang on when they climb.
When they climb, they move up trees or rocks. Some tree frogs live high in very tall trees. Those tree
frogs have webs between their toes. They can jump from tree to tree. They can’t fly, but they can
stay in the air for a long jump.

Questions:
l. A young frog’s skin must stay wet so...

a. the frog can swim.

b. the frog can climb

c. the frog can lay eggs.

d. the frog can breathe.

Il. Where do frogs lay their eggs?
a.in water
b. on land
C.in trees
d. under rocks

[ll. How are young and old frogs different?
a. only older frogs have lungs.
b. only young frogs can swim.
c. only young frogs can live in water.
d. only older frogs must have wet skin.

IV. Some frogs have toe pads to help them...
a. climb.
b. swim.
C. jump.
d. fly.

V. What helps frogs swim and jump?
a. Toe pads
b. their lungs
c. their smooth skin
d. webs of skin between their toes
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Passage-35

The human body has many parts. People have two arms and two legs. We have two hands
and two feet. We have five fingers on each hand. We have five toes on each foot. We each have two
eyes on our face. We see with our eyes. We each have two ears. We hear with our ears. We each
have one nose on our face. We smell with our nose. We each have one tongue. We taste with our
tongue. We each have one brain. We think with our brain. We each have two lungs in our chest. We
breathe with our lungs. Humans can do many things. People can walk. We use our legs and feet to
walk. We can run. Running is faster than walking.

We use our legs and feet to run. We can climb. We use our arms, hands, legs and feet to
climb. We can climb up trees or climb up ladders. We can eat and drink. We use our mouth and
teeth to eat. We eat meat, fruit, vegetables, and other foods. We can drink lots of things, but we
drink water the most. We also use our mouth and teeth to talk.

Questions:
|. What do we smell with?

a. our toes

b. our nose

c.our lungs

d. our fingers

Il. Fingers are part of your...
a. leg
b. foot
C. nose
d. hand

ll. Your face has your...
a. eyes, nose and mouth
b. arms, legs and feet
c. fingers and toes
d. feet and toes

IV. You use your lungs to...
a. eat
b. hear
c. smell
d. breathe

V. To climb is to...
a.goin
b. go up
c. taste food
d. drink water
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Passage-36

Seagulls live on the beach. They eat small fish, bread, and seaweed. Seagulls run quickly on
the sand and fly quickly in the sky. Seagulls will run or fly away if you try to catch them. There are
many seagulls on the beach. Crabs also live on the beach. They eat shrimp, ocean plants, and small
fish. Crabs crawl quickly on the sand and in the ocean. Crabs will crawl away if you try to catch them.
There are many crabs on the beach, but it is not always easy to see them. Starfish live on the beach,
too. They eat clams, oysters, and small fish. Starfish move slowly on the sand and in the ocean.
Starfish will not move away if you try to catch them. There are few starfish on the beach.
Questions:
|. Seagulls, crabs, and starfish all eat

a. clams

b. bread

c. fish

Il. Which animal does not move quickly?
a. starfish
b. seagulls
c. crabs

[ll. Based on information in the passage, which sentence is false?
a. starfish are hard to catch.
b. crabs eat shrimp and ocean plants.
c. seagulls move quickly on the sand and in the air.

IV. The passage does not talk about
a. what starfish eat
b. how crabs catch food
c. how fast beach animals move

V. Based on information in the passage, we can understand that
a. the beach is not as nice as the mountains
b. the beach is a good place to vacation
c. many animals live at the beach

Passage-37

A donkey and a rooster lived peaceably in the farmyard. One day, a hungry lion passed by.
His eyes brightened at the sight of the plump donkey, and he thought of the fine meal in store for
him.

But just as the lion was about to pounce on the donkey, the rooster began to crow. Now, it is
said there is nothing a lion hates more than the sound of a cock-a-doodle-doo. Perhaps it is true, for
the lion turned and fled at the sound of the rooster’s crowing.

The donkey laughed. “Why, the lion is coward! The mighty king of beasts runs from a
rooster.” And the donkey felt so bold that he began to chase the lion. He had not gone very far,
however, when the lion turned. With a great roar, he leapt upon the donkey.

The rooster, watching from the farmyard, said sadly,” Alas! My poor friend did not realize
what he could or could not do.”

“False confidence often leads to misfortune.”
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Questions:

|. Why did the eyes of the hungry lion shine?
a. to see the rooster
b. when he saw the healthy donkey
c. when he saw the friendship of both
d. none of these

Il. Why did the lion run away?
a. the lion was afraid of the donkey.
b. the lion hated the crow.
c. the lion hated the crowing of the rooster.
d. none of these

lll. Why did the donkey chase the lion?
a. he loves the lion.
b. he hates the lion.
c. he had false confidence to kill the lion.
d. none of these

IV. The rooster became sad in the end because
a. the rooster could not crow.
b. the lion has killed his friend, donkey.
c. the lion had run away.
d. all of the above

V. Which word in the passage mean ‘jumped’?
a. fled
b. chased
C. crowing
d. leapt

Passage-38

A crow saw that an eagle dropped down from the sky on to a lamb, caught it with its talons
and flew straight back with it to its nest.

The crow thought he would like to do the same and went out in search of a lamb. Soon he
came across one grazing in a field, and just like the eagle, the crow dove to capture the unsuspecting
lamb between its claws. But the lamb was much too heavy for him, and what was worse, the crow’s
little claws got caught in the lamb’s thick wool. The poor bird was trapped there.

The shepherd saw the crow, caught it and put it in a cage.

So, the one who thought to imitate an eagle, ended up being caged. Therefore, always “Think before
you act,”

Questions:

|. What did the crow see?

a. an eagle with a lamb

b. an eagle in its nest

c. an eagle had caught a lamb with its talons

d. none of these
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Il. The crow thought that it
a. would become a friend of the eagle.
b. would do the same as eagle had done
c. would eat the eagle
d. would eat the lamb

lll. What is the meaning of ‘imitate” in the story?
a. to meet
b. to see
c. to copy
d. to catch

IV. What did the shepherd do with the crow?
a. he killed the crow.
b. he puts the crow in the cage
c. he eats the crow.
d. all of the above

V. Why could the crow not catch the lamb?
a. the lamb ran very fast
b. the lamb was very heavy
c. eagle was with lamb
d. the lamb was clever.

Passage-39

Pollution is a very wide term that includes the way to pollute the air, water, earth, and life,
etc. It has become not only a menace but also a threat to our survival. Thanks to the Government
which is initiating steps to reduce the quantum of pollution from the atmosphere. The air we
breathe in, the food we eat and the water we drink, all are polluted in one way or the other. The
noise and air pollution are one of the most dangerous health hazards for all of us since they
endanger out to stay over the earth. Industries, vehicles, smoke, domestic and industrial wastage
threatens the existence of people. In the metropolitan cities, noise is created by vehicle, pop songs,
jaguars, musical bands, sirens and in marriages. It deafens out ears and thereby causes tension,
distraction, and deafness. The polluted air affects our lungs, nose, eyes, throat and other diseases of
bronchitis. Thus we become victims of May fatal diseases. The vehicles and factories emit out tones
of smoke. It is our moral duty to save ourselves from pollution. We must plant green saplings to
purify and refresh our environment.
Questions:
I. Which are the most dangerous health hazards?

a. noise and air pollution

b. water and noise pollution

c. air and water pollution

d. all of the above

[I. Which pollution deafens our ears and causes tension?
a. water pollution
b. air pollution
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c. noise pollution
d. none of the above

lll. What steps one should take to refresh our environment?
a. to cut trees
b. to plant green saplings
c. to emit tons of smoke
d. both (a) and (c)

IV. What are the major effects of pollution on our health?
a. it deafens our ears.
b. it causes tensions.
c. it causes distraction.
d. all the above

V. What is the synonym for “To send out something”?
a. distract
b. emit
c. endanger
d. threatens

Passage-40

What causes the monsoon? The monsoon, which is essentially the seasonal reversal in wind
direction, causes most of the rainfall received in India and some other parts of the world. The
primary cause of monsoons is the difference between annual temperature trends over land and sea.
The apparent position of the Sun with reference to the Earth oscillates from the Tropic of Cancer to
the Tropic of Capricorn. Thus,the low pressure region created by solar heating also changes latitude.
The northeast and southeast trade winds converge in this low pressure zone, which is also known as
the Intertropical Convergence Zone or ITCZ.

This low pressure region sees continuous rise of moist wind from the sea surface to the
upper layers of the atmosphere, where the cooling means the air can no longer hold so much
moisture resulting in precipitation. The rainy seasons of East Asia, sub-Saharan Africa, Australia and
the southern part of North America coincide with the shift of ITCZ towards these regions.

Source: The Times of India
Questions:
l. What is monsoon?

a. a type of sea wave

b. a seasonal reversal in wind direction

c. very hot wind

d. very cold wind.

Il. What is the full form of ITCZ?
a. Intertrance Convergence Zone.
b. Convergence Zone.
c. Intertropical Capricorn Zone.
d. Intertropical Conveyance Zone.
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[1l. What is the major cause of monsoon?
a. difference between annual temperature trends over land and sea
b. difference between day and night temperature
c. moisture in the atmosphere
d. none of these.

IV. How is low pressure region created?
a. solar heating
b. lunar cooling
¢. moist wind
d. dry wind

V. When does rain fall?
a. moist wind goes down
b. dry wind meets moist wind
c. the air can no longer hold moisture resulting in precipitation
d. annual temperature goes down

Passage —41
| lay in sorrow deep distressed:
My grief a proud man heard,
His looks were cold, he gave me gold.
But not a kindly word.
My sorrow passed | paid him back
The gold he gave to me,
Then stood erect and spoke my thanks
And blessed his charity.
| lay in want and grief, and pain
A poor man passed my way
He bound my head, he gave me bread;
He watched me night and day;
How shall | pay him back again
For all he did to me?
Oh, gold is great, but greater far
Is heavenly sympathy.
Questions:
i. One day the poet was in
a. trouble
b. need of money
c. need of a friend
d. depression.

Il. What did the proud rich man offered the poet?
a. sympathy
b. money
c. bread
d. tea.
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[ll. Why was the poet in a fix?
a. he didn’t know how to pay back to the rich proud man
b. he didn’t know the poor man who served him so much
c. he wanted to give money to the poor man but he had no money
d. he didn’t know how to pay back to the poor man’s service to him.

IV. What did the poet realize in the last?
a. the poor man was better than the rich man
b. sympathy was more valuable than gold
c. the rich man was better than the poor man
d. money was the most important thing in the world.

V. What is the antonym of ‘Sorrow’
a. carelessness
b. ability
c. joy
d. beauty.

Passage-42

Fame is a food that dead men eat,

| have no stomach for such meat.

In little light and narrow room,

They eat in the silent tomb.

With no kind voice of comrade near

To bid the feaster be of cheer.

But friendship is a noble thing,

Of friendship it is good to sing.

For truly when a man shall end,

He lives in memory of his friend,

Who doth his better part recall,

And of his fault make funeral.

Questions:

I. What is the meaning of ‘Fame is a food that dead men eat’
a. fame is enjoyed only after death
b. fame is enjoyed during life-time
c. fame is something like a food
d. fame dies with one’s death.

[l. Why is friendship a noble thing?
a. a man cannot live without friends
b. real friends are very helpful
c. a man always remembers the good qualities of his friend after his death.
d. it enhances dignity of mankind.

[ll. Friendship is better than fame because in friendship
a. when a man dies he lives in the memory of his friend.
b. a man always regards his friend.
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C. enmity never comes.
d. a man is always happy in the company of his friend.

IV. What message the poet wants to give?
a. one should believe in friendship.
b. the faults of a man are highlighted by his friend after his death
c. ‘the faults of a man are forgotten by his friend after his death
d. one should not run after fame and friendship.

V. The Synonym of ‘recall’ is
a. forget
b. come close
c. help
d. remember

Passage-43
This is the story of a man who thought that he had the right to do whatever he liked. One day, this
gentleman was walking along a busy road, spinning his walking-stick round and round in his hand,
and was trying to look important. A man walking behind him objected.
“You ought not to spin your walking-stick round and round like that!” he said.
“I' am free to do what | like with my walking-stick,” argued the gentleman.
‘Of course, you are,” said the other man, “but you ought to know that your freedom ends where my
nose begins.”
The story tells us that we can enjoy our rights and our freedom only if they do not interfere with
other people’s rights and freedom.
Questions:
|. The gentleman was walking along a

a. lonely road.

b. busy road.

C. narrow road.

d. jungle road.

[l. What was the gentleman doing?
a. running along the road.
b. disturbing others on the road.
c. spinning his walking-stick round and round.
d. hitting the animals with his stick
[ll. The man who protested was a
a. teacher.
b. passer-by.
c. policeman.
d. a beggar.

IV. What is the synonym of ‘To say things angrily’?
a. protest
b. disturb
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C. narrow
d. argued

V. What is the antonym of ‘Broad’?
a. narrow
b. begin
c. large
d. big

Passage-44

The moons are the natural satellites revolving around the planets in the solar system. Except
Mercury and Venus, all the other planets have moons. While the Earth and Pluto have one moon
each, Uranus has 15, Jupiter 16, and Saturn 18. The size and composition of the moons vary. Some
moons are only a few kilometers in diameter, while others are larger than the planet Mercury.
While the earth’s moon is rocky, Saturn’s Enceladus is -50% ice. Satellites, lo, Europa, Ganymede and
Callisto of Jupiter are Galilean moons.
They were discovered by Galileo in 1610.
Questions:
|. The moons are

a. planets

b. natural satellites

c. asteroids

d. artificial satellites

[l. Which planets do not have moons?
a. Mars & Jupiter
b. Earth & Pluto
c. Uranus & Jupiter
d. Mercury and Venus

[ll. Moons revolve around-
a. comet
b. Sun
c. planet
d. asteroids

IV. Moons discovered by Galileo are-
a. Lo and Europa
b. Ganymede and callisto
c. Enceladus
d.onlyaandb

V. Galilean moons are discovered by Galileo in
a. 1611
b. 1610
c. 1601
d.1600

273



Passage — 45

When our population was small, we could manage with crops we grew in naturally rain-
watered soil. But with the steep increase in population, it became necessary to grow crops even
when the rains failed or were scanty. It became necessary to water the soil artificially, i.e., to resort
to irrigation, and harness our water resources by building canals, which carried river water to our
farms, or by drawing up groundwater which would normally have seeped into streams and
ultimately found its way to the sea.

We have also learnt to store flood waters behind large dams and release them later through
a network of canals. Some of our canals carry a great deal of water and run long distances. The
Indira Canal, for example, takes water from the Punjab rivers to the desert areas in Rajasthan.

Canal and wells enable us to grow two or three high yielding annual crops. If, by mischance,
any of our big canals stops functioning, millions may have to starve.
Questions:
l. It was necessary to water the soil artificially because--

a. of increase in population

b. to grow high yielding annual crops.

c. of decrease in population

d. all of the above

Il. Which of the following is not a method of rain water harvesting?
a. building dams
b. drawing up groundwater
c. the dug well recharge
d. contour bunding

lll. The passage primarily focuses on which of the following?
a. steep increase in population
b. water irrigation
c. water scarcity
d. harnessing river water

IV. The Indira Canal takes water to the desert area-
a.in Punjab
b. in Haryana
c. in Rajasthan
d. bothaandb

V. What does the term ‘drawing up ‘mean in this context?
a.dry up
b. water harvesting
c. to take water from a well
d. none of the above

Passage-46

Long time ago, there was a man named Lemuel Gulliver. He loved to travel and had gone to
many sea voyages. On one such voyage, his ship was caught in a violent storm. The ship tossed
amongst the raging waves. Gulliver, somehow, managed to get into a boat. But within minutes, the

274



boat overturned. Gulliver tried to swim but could not because of the strong waves. After a while,
Gulliver lost his consciousness.

When Gulliver woke up, he found himself on an island. He felt that his arms, legs and even head was
tied up with ropes. He felt something moving up his leg. Gulliver was surprised to find a man barely
six inches tall moving towards his face!

Gulliver tried hard to move and to break free. But just then, he found small, needle- sized
arrows pricking him all over. He thought it was better to lie still. Gulliver could not understand the
language of these tiny people. All that he understood was that he was in a place called,” Lilliput’.
Questions:
|. When Gulliver woke up, he found himself on-

a. a sea beach

b.afarm

c.anisland

d. a river side

Il. Gulliver was surprised to —
a. find that he was tied up with ropes.
b. find a man barely six inches tall.
c. feel that something was moving up his leg.
d. to find that his boat was overturned.

lll. What is an island?
a. a body of land surrounded by forest
b. a body of land covered with ice
c. a body of land surrounded by water
d. none of the above

IV. Lemuel Gulliver love to -
a. travel
b. surf
C. swim
d. all of the above

V. Which of the following is the most appropriate meaning to the word ‘voyage’ -
a. tour
b. picnic
c. trek
d. a long journey, especially by ship

Passage -47

The bamboo is the tallest member of the grass family. Some varieties may reach a height of
35 meters, and have stems 35 centimeters in diameter. There is one clinging type that grows to
more than 60 meters.

Many of us think that the bamboo is a purely Asiatic plant, but actually it also grows in the
western hemisphere. It is found from southern U.S.A. to Northern Chile and Argentina. Cattle graze
on it in the coastal range of North Carolina. This towering grass is, however, most abundant in Asia.
China alone is said to grow 160 varieties!
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The bamboo is truly a multi-purpose plant, and its uses are almost unlimited. Did you know
that liquid diesel fuel may be distilled from bamboo? Medicines for hormones and drug are also
made from substances in the bamboo.

Questions:
I. Name the tallest member of the grass family.

a. Pampus grass

b. Finger grass

c. Corn grass

d. Bamboo grass

Il. Cattle graze on bamboo in —
a. in North Carolina
b. in Southern U.S.A.
c. in northern Chile
d. in Argentina

[1l. Which of the following is the most appropriate meaning to the word ‘abundant?
a. not more
b. present in great quantity
c. insufficient
d. rare

IV. On which continent does bamboo grow most?
a). Europe

b). Antarctica

c). Asia

d). South America

V. Which of the following is not true about bamboo?
a). bamboo is the fastest and tallest-growing plant.

b). it is a multi-purpose plant

c). bamboo is the tallest tree

d). China alone grows 160 varieties of bamboo

Passage — 48

Mangoes are the most popular fruit in the world. Its unique flavour, fragrance and taste
make it the most favoured fruit among people. It comes in various shapes, sizes and colours
including vellow, orange, red and green. It is a nutrient-packed fruit, extremely rich in minerals,
antioxidants, vitamins, and enzymes. Mango is rich in potassium which helps in controlling heart rate
and blood pressure. Raw mangoes are used to make mango pickles, rice special preserves, and
several other dishes. Sour, unripe mangoes can be used in chutneys, pickles and side dishes. Mango
is the national fruit of India, Pakistan and the Philippines. (102 words)
Questions:
l. Assertion (A): Mangoes are the most popular fruit in the world.

Reason (R): Mango is the national fruit of India, Pakistan and the Philippines.

a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true, but R is not the correct explanation of A.
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c. Ais true, but R is false.
d Ais false, but R is true.

Il. Choose the appropriate options from the following which make mangoes the most favoured fruit
among people.
i. fragrance
i. colour
iii. flavour
iv. shape
v. taste
vi. size

a. i, iiiand iv
c. i, ivandvi
d. i, iiiandv

ll. Find the odd pair out among the following.
a. popular - favoured
b.raw - unripe
c. flavour - test
d. various - several

IV. ‘Mangoes are good for health” Which one among the following statements does not support this
assertion?
a. it is a nutrient-packed fruit, extremely rich in minerals.
b. it comes in various shapes, sizes and colours.
c. itis rich in antioxidants, vitamins, and enzymes.
d it helps in controlling heart rate and blood pressure.

V. Which among the following is NOT the synonym of ‘unique’?
a common
b. particular
C. unrepeated
d. distinctive

Passage-49

King Alphonso got down from his horse and went to help the mule-driver. Both of them pulled and
pushed until they succeeded in getting the mule on the firm ground. By this time, they were covered
with mud. A number of people had gathered there. Someone recognized the king. People began to
whisper that it was the king himself who had helped the mule-driver. When the mule-driver heard
this, he was very scared. He begged the king for forgiveness. Alphonso told him that he had done his
duty as a man. He may be a king but as a man he should help those who were in some difficulty. The
king thus taught a lesson to all those passers-by. (119 Words)
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Read the passage and answer the questions that follow:

Questions:

|. Which one among the following statements is NOT true?
a. King Alphonso helped the mule-driver because he wanted to teach a lesson to the passers-
by.
b. The mule-driver was frightened because he was responsible for the king’s muddy clothes.
c. King Alphonso was a responsible king so he readily helped the mule-driver.
d. King Alphonso considered himself as a man first and then a king.

Il.‘Many people gathered there but no one came forward to help the mule-driver.” This behaviour
of the people shows that they were ..........c.coco...... .
a. egoistic
b. disrespectful
c. neutral
d. unconcerned

Il. Why were the people speaking softly about the king?
a. they didn’t like the king helping the mule-driver.
b. they were frightened of the king and his behavior.
c t his was their way of showing respect for the king.
d. they were making fun of the mule-driver.

lll. What does the phrase ‘on the firm ground” mean?
a. in a safe situation
b. bring to conclusion
c. show someone reality
d. bring back to land

IV. Which among the following is NOT the synonym of ‘scared’?
a. frightened
b. encouraged
¢ panicked
d. Aghast

Passage-50

Sunil Mittal was mediocre in studies but wanted to make a mark in business. After finishing
his graduation, he started a small bicycle manufacturing business. He also tried his hand at making
steel utensils, but not too successfully. Mittal then started selling imported generators and set up a
countrywide sales operation. However, a change in government policy forced him to close down
that business. But Mittal was not disheartened He started making push-button telephones. In the
1990s, when the telecommunication sector in the country promised huge profits, Mittal decided to
try and grab share. He had little chance of success since he would have to compete with huge
companies with mammoth budgets. But the gritty Mittal worked (and still works) for almost
eighteen hours a day and not just beat competition but made Bharti Enterprise a 2.7-billion-dollar
group.
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Mittal’s success wasn’t because he was outstanding brilliant or knew people in high places or was
born rich. It was simply his dedication; hard work and will to succeed that led him to build one of
India’s largest telecom companies.
Questions:
l. What is Sunil Mittal?

a. a mediocre

b. a businessman

c. a manufacturer

d. a builder

Il. What was his first business?
a. making steel utensils
b. selling imported generators
c. telephones
d. bicycle manufacturing

lll. Which of the following words would you associate with Sunil Mittal?
a. dedication, hard work and will
b. disheartened, fickle and careless
c. goal oriented, focused and sincere
d. brilliance, knowledgeable and rich

IV. Choose the Noun form of Compete from the options given below.
a. competing
b. completion
C. competition
d. completed.

V. Choose the Past Tense of 'Try' from the options given below:
a. try
b. tired
c. tried
d. trying

Passage-51

Gautama Buddha was once passing through a village, when a man started shouting abuses at
him. His insults were so hurtful that it angered the Buddha’s disciple, but not the Buddha himself.
His calm made the man even angrier. He screamed in rage, “How can you remain so calm when | am
abusing you?”
Said the Buddha, “If you offered me a plate of sweets and | refused, the sweets remain yours, don’t
they? The same principle applies to the abuses you are offering me. Since | don’t accept them, they
remain yours!” The man fell at the Buddha’s feet begging forgiveness.
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Questions:
|. Where was Gautama Buddha passing through?
a.ajungle
b. a village
c.an ashram
d. a holy place

Il. Who got angry when the man started shouting abuses?
a. Gautama Buddha
b. the man
c. Gautama Buddha’s disciple
d. Principal

lll. What made the man angrier?
a. his calmness
b. his personality
c. his behavior
d. his reactions

IV. Why did the man fall at the feet of Buddha?
a. for forgiveness
b. for making peace
c. for worship
d. for offering flowers

V. Choose the synonym of FURY from the options given below.
a. abuse
b. disciple
c. forgiveness
d. rage

Passage — 52

It’s possible that cavemen learnt the advantages of living and working in a group from
nature, we all know animals live in herds, fish in schools and birds flock together. Elephants in fact
live in “joint families “with the females looking after each other’s calves. Whenever a herd member
is threatened, the rest of the herd will surround the enemy and challenge him collectively. That’s
why tigers and lions rarely, if ever, attack elephants. Similarly, when ants find something too heavy
to be carried alone, several of them will together heave it on their shoulders.
Questions:
I. From whom did cavemen learn the advantages of living and working in a group?

a. animals

b. herd

c. nature

d. females
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[I.Who looks after the young ones of Elephants?

a. male elephants
b. families

c. cavemen
d. female elephants

lll. How often do tigers and lions attack Elephants?

a. always

b. seldom

C. never

d. frequently.

IV.What may be the exact meaning of the phrase” too heavy to be carried alone”?
a. it is so heavy that it can be carried alone .
b. it is so heavy that it cannot be carried alone.

c.it is very heavy but easy to carry alone.
d.it is not heavy but easy to carry alone.

V. Identify the collective noun from the given words.

a.ants

b. school

c. tigers

d. lions
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Passage | 1 Passage | 15 Passage | 29

Q. || iV Q. |l ||V Q. |l min|v|v

A.lb |c|d|b |d A.la |cla |b |b A.lc |b|d|c |d
Passage | 2 Passage | 16 Passage | 30

Q. || iV Q. |l iV Q. |l IR EARY

A.lc |ala |b |a A.lb |d|b |a |c A.lb |a|b|a |a
Passage | 3 Passage | 17 Passage | 31

Q |l vV Q |l ]|V Q |l myrupv|v

Ala |bla|a |b Allc |ala |d|c A lb |d|b|d|a
Passage | 4 Passage | 18 Passage | 32

Q |l iV Q |l RN EARY Q |l myrupv|v

Alc |b|d|d |d A.lb |c|d]|a |b A.lc |a|d|b|c
Passage | 5 Passage | 19 Passage | 33

Q. || iV Q. |l IR Q. |l IR EARY

A.lc |a|d|b |a A.lb |djc |c |a A.la |blc |a |a
Passage | 6 Passage | 20 Passage | 34

Q. || v Q. |l IR Q. |l IR EARY

A.lb |c|d|a A.lc |ala |a |a A.ld |ala |b |d
Passage | 7 Passage | 21 Passage | 35

Q. || iV Q. |l min|iv|v Q. |l min|v|v

A lb |bja|a |c A.la |c|b|b|b A lb |dja|d|b
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Passage | 8 Passage | 22 Passage | 36

Q. |l iV Q. |l v Q. |l IR EARY

A |ld |a|b|c |b A.lc |c|d]|c A.lc |ala |b|c
Passage | 9 Passage | 23 Passage | 37

Q. |l iV Q. |l v Q. |l IR EARY

Alc |c|d]a |b A.ld |a|b|c A.lb |clc |b|d
Passage | 10 Passage | 24 Passage | 38

Q. |l iV Q |l (i Iv Q. |l min|iv|v

A.la |a|b |b |a A.lb |a|c |a A.lc |blc |b|b
Passage | 11 Passage | 25 Passage | 39

Q. |l iV Q |l (i Iv Q. |l min|iv|v

A.ld |d|d|d |a A.lc |ala |b A.la |c|b|d|b
Passage | 12 Passage | 26 Passage | 40

Q. |l iV Q. |l iV Q. |l IR EARY

A.lc |cla|a |c A.la |blc|c A.lb |bla|a|c
Passage | 13 Passage | 27 Passage | 41

Q. || | IV]V]|vi Q. |l iV Q. |l IR EARY

A.la |b|c |a |a|a A.lb |d|c |a A.la |bjd|b|c
Passage | 14 Passage | 28 Passage | 42

Q |l iV Q |l IV Q. |l IR EARY

A.la |b|b|b|c A.ld |d|b|d A.la |cla|c |d
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Passage | 43

Q. |l {n v

A.lb |c|b |d
Passage | 44

Q. |l {n v

A.lb |d|c |d
Passage | 45

Q |l {n v

A.la |b|d|c
Passage | 46

Q |l {n v

A.lc |blc |a
Passage | 47

Q. |l {n v

A.|ld |a|b |c
Passage | 48

Q. |l {n v

A.lb |djc |b
Passage | 49

Q |l {n v

A.lb |d|c |a
Passage | 50

Q |l {n v

A.lb |dja |c
Passage | 51

Q. |l {n v

A.lb |cla |a
Passage | 52

Q. |l {n v

A.lc |d|b |b
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